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WRITTEN TEST FOR SELECTION FOR THE POST OF Tech.GrIII/TRD 

Date: 26.02.2022 	 Duration of Exam : 2:00 hrs 

Marks: 100 

PLEASE READ ALL THE INSTRUCTIONS CAREFULLY BEFORE MAKING ANY ENTRY IN 
THE ANSWER SHEET 

1 Check that the Question Paper contains 100 questions and if any unprinted/torn pages are found, get 

it replaced. 

 There will be 100 questions with four multiple choice answers. Each Question carries equal mark. 

 Candidates are required to fill only Items No.1, 2, 3, 5 and 11 in the OMR answer sheet. 

 The OMR answer sheet contains dLiplicate copy and DO NOT ATTEMPT TO SEPARATE OR 
DISPLACE THE DUPLICATE COPY WHILE ANSWERING 

The shading/darkening done on the original OMR answer sheet will automatically appear on the 

Carbon Copy and hence no separate shading/darkening requires on the carbon copy. 

 Use 	only 	Blue/Black 	Ball 	Point 	Pen 	for writing/shading/darkening 	on 	the 	OMR 	Sheet. 	Gel 
Pens/Pencils are not allowed. 

 Please enter your TEN DIGIT ROLL NUMBER in the Box provided in the Answer Sheet and darken 
the corresponding circle.(ltern No.1 of OMR sheet) 

7 Write your Name in CAPITAL LETTER. 	(Item No.2 of OMR sheet) 

Fill the Date of Examination 	 and Name of the Centre...........(Item No.3 & 5 of 
OMR sheet) 

PUT YOUR SIGNATURE IN THE ANSWER SHEET against Item No.11 	Candidates Signature". 

8. Answers to Questions 1 to 100 are given in the multiple choice as 1.2.3,4. 	Choose only one correct 

answer to each question from the multiple choice given (1,2,3.4) and darken/shade the appropriate 

circle fully. 	Changes are not permitted once answered. 

Correct Method 	 Wrong Method 

_ 00 
 THERE IS NEGATIVE MARKING and 1/3 	of the allotted marks will be deducted for every wrong 

answer. 

 Corrections of any type on the OMR sheet (eg. overwriting, cutting, erasing. multiple shading or 

alterations of any type in the answer) will not be accepted Zero marks will be given for answers 

having corrections/overwriting! multiple shading. 

 Please handover the OMR sheet along with its duplicate copy to the invigilator before leaving the 

examination hall. No OMR sheet copy should be carried by the candidate. 

 Candidates are not allowed to keep mobile phones/electronic gadgets or any other documents/papers 

with them in the Examination Hall. 

 Candidates are allowed to take the Question Paper with them after the examination 

 It may be noted that in the event of any doubt/discrepancy, the most apt option and the English version 

will prevail. 

 The 	candidates 	appearing 	for 	the 	exam 	are 	requested 	to 	clarify 	their 	doubts 	about 	any 

questions/option, at the beginning of /during the examination, so that the same may be then itself 

clarified/corrected/substituted, for the benefit of all. 

 The instructions given on the reverse of the OMR sheet may please be ignored 
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1. ACTM ZFT FU 

Abbreviation of ACTM is? 6T6ITU)6T 	 F{LD 

1)AC Train Manual, AC Lru5th17JJ 

2)AC Traction Manual, AC C 774Gr 

3)AC Traffic Manual, AC i.irt3 	LC7J)jG 

4)AC Training Manual, AC 	 LL7J6JL' 

2............................ 	 t[T 	t 	25 kV, 	, 50Hz OHE 

fj?J 3c-T erm 
A neutral section is provided in OHE between two 25 kV, single phase, 50 Hz. traction sub-

stations due to 

25 kV 11b1I6T CUfl), 50 QjiLciu Lçrrrá&6T &U-GnCLT OHE &(8j 

ULJLb Q&6T 	jw, müuLthiG1ij. 

T 	t MT 	 tf 	fJ 

t;1- fZff  3flT{ 

To separate the zones, which fed by the adjacent substation of different phase. 

QCj 	U&.) 61T61T 5LJ - 	&(r5j Q ULL6 

LU6TL6oftJGTT1r&, )üubc 

OHE zr 	Ja 	T:lR9J 

To increases the current carrying capacity of the OHE 

OHE 6ii &rj&iL 5LJW ftowu 	UU® Thft8 

OHE 	# c'lçj erq 

To minimise the voltage drop in OHE conductors 

	

OHE 6T CJrFbL Lijrrüu 	üurfrr 

	

4).3ct-d f?t,All of the above, CLUCGU 	GflGTT 	TJLD 

3. VqTt AT L'1-') 1T L'.d-1) 3 	i-i) 74f 	 3Th Tit 2r tT 

zr EFF 

The distance of OHE section between FP & SSP or SSP & SSP or SSP & SP is called. 

FP&SSP 

,mebeu,tj SSP&SSP I6O6OJ SSP& SP (8j 	6LUJUJf66T 	Jft6 	1G)J)J1rJ 

ff)GorrL. 

1) 	4'ldl 	r, Feeding length, ft[bi Qo6T, 
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p 
	 EVU 

)l)di 	Feeding zone, LlorFIl C&rr6T 

.l4, Sector, Q&LrJ 

H 	cf- ,Sub sector, U-Q&LIJ 

4 	$t 	ti 211 	 T (CBs)...................... 	9TtRTFf # TitIIfilci ¶21T 1T dcl-di 

Interrupters or circuit breakers (CBs) can be operated through 

&rEujL uCr&ru (CB)GUGO 	 LTe1ULrGrO 	oT 	6U(DLD 

UJU1FL. 

1).d-1 ce1, Remote control, rCwrrL 86~eLCIjrrdo  

)L-.-t 	31II1 	TT 12ft ct'l1, Local control byTSS operator ,TSS &,UCrJLLIJ 

CL p6uwrra Cürrci) &TLCjrrb 

4-il, Manually, LUJ)JGt) 

it4ctd T't, All of the above, CLUC6u 	61T6TT 	TJLU. 

AC fT ................. 

In AC traction, span length varies in steps of 

AC L 	5611GU GrOCU&oT Quôi 	)(;JG)Jft 	W1FJU@LU 

1) 4.5TftZT 	meters 2) () #rU 	meters 

3) 	 meters 4)18 	meters 

 

Which type of overlap is formed at the end of every tension length 

	

iQirrcr QLIóT&6ÔT QT6T 	61i 6T 

QJlrC6uu (r56-iJ1rL 

$Hclè 3''-I, Insulated overlap, 	6T5CULLL 	rCGOÜ 

3T 	31c4, Un-insulated overlap, 	T-oT&Ca)LL.L 	 uü 

TF 	3{ff 3I) Zn 	- -+l 	i, 

Either Insulated overlap or un-insulated overlap, 	68F&CGOLL.L 	6)J1JC6UU 46T- 
T&CGuLLL 	JIJCGULJ 6Jrr6)JJ 

31d # # zff 	, None of the above, CLUCU 	 D15GO 6T,J64L 
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7. 	c'l 	 OH E RT 	 AT wi èch 	 {Th 	t ZiT 

Axial distance between catenary & contact wire at the OHE support, in vertical plane is 
called 

OHE 8:LiCU1fl4LU CLLT LULU 1TTLL 63ujlfl6T Q& 

JCGTT666T 4&#lUJdO ffTJLb 

,LcJalT Implantation, LOLrFr6rJrL.G6oT 

.3TtIOHE, Gradient of OH E, OHE 65 	qUJ66TL 

$chI -I, Encumbrance, 6T60(&LDUU6TGfl.) 

Stagger, G1OCL8IJ 

8. 
Change of the height of the contact wire to be achieved very gradually, to avoid 

&rr6TL&)L 6)JuJ[)16T 	UJ6 	QLU6JIr(% W6oT1F\) 	J)!J6 

~b6D~&-%corah.  

1) cjcb 	t? 	 [ 4jc4i 

Loose contact between contact wire & pantograph. 

[r68TLrrL ciuJi wIbjth 	 6ii M 	rT6&L-&LL 

i ') i I 	RT EPT!F JR qT 3R1 	Tf 	I 
Exert excessive pressure on the contact wire by pantograph. 

ff1r6isrLrrL G)JUJlicoT Lf&J CU61L'L1 	rT1r6o 6J)DU®LU 

JTR 	PoorcurrentcolIection.CW1r&LU1F6T 5)çr6rL 	Qu&ôi 

.314.)c4d 	All of the above. CwCo 	5lüLLL 	6T&,JLU 

	

9. 	o' 	 1 icct q, 	 r 	tt 3TfOzrr 

At level crossing gate, maximum height of rail height guage from the road surface is 	
It 06uGj(36 	n 	CLb 56ui 	 ui 6L CET 

rth 

1) 4.38 Thm 	 2) 4.7 	1r. m 	 3) 4.80 	. in 	 4) 4.45 9ft. M 
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1 O. 	kui k 	 d (1 

In AC traction, spacing of 'A' dropper (1st dropper from the 

support) is 

A 	uur 	LG)JGYf 

9 17.i111 L.77LJLJ7) 

	

1) 	4.50fl. m 2) 2.501t m 3) 2.25 Jft.m 4) 2.00 Jft.m 

11 1R1 	.............. 

No. of layers & strands of AC catenary wire is 

AC CaLETI)1 6)JUJöT GOUJ6TT LUDL0 6fl)L L566T 

6Ti65)th 

3 	19 	3layer&19 strands, 3 CGOUJUJGrT & 19 	OL1T6TLGrT 

2 fZTT It 19 	2 layer & 19 strands, 2 C JUJ1J8GTT & 19 	oL1TT6TL46iT 

2 	7i 37 	*, 2 layer & 37 strands, 3 C6UUJlJff6iT & 37 	L16ILG1T 

3 ARR t 37 	3 layer & 37 strands, 3 C6UftJ86:TT & 37 G1\)Lrrr6àTL4i 

12. 	aiv 107sq mm TR cFr 2ThH ..............tTT 	? Diameter of new 107sq mm wire is? LI,1UJ 

107 Sq.mm G)JUJ]6T LUJITLLLIJ 

1) 	16.36 ¶41.mm 2) 12.24 f1'f.mm 	3)10.55 f41.mm 	4)8.25 fThmm 

	

13. 	dAI 	 ITZT 	 F4T zFu 51Tff ? 

The displacement of contact wire with respect to the pantograph axis is called 

CU6TLCLJrThJfrU 	&T f[61L5L 6)JUJIJ GDLL&II CU1r6)J6O 

6JQJ[IJ m6np&&eurrLh 

,k'1lIT, Implantation, 	L6L6)p6T 

cbièct. ZiTZR EFT - dR, Staggerof contact wire, &1r6TLL 	JFj161T 	CL1J 

cjècI- 	1T?T ZFT di1L, Gradient of contact wire, th1r6rL5,L iiu4r 41CujiL 

faT  Sag,Sag &IT 

Maximum stagger is allowed at mid span is 

	

L)L 	Cu6 	 Gfl)CL8 	LD155 (PI1jULU 

	

1) 	22914t mm 	2)200fJ. mm 	3)152ft. mm 	4)100l4'l.mm 
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15. 	OHE 	Jt[ Lc1j 	T TaaT 3T TdT ? 

In regulated OHE, Where anti-creep point is provided? 

QoL Q&U.JUJÜULL..OHE 60 	,6T4 	U UrTU.)6TL arfiC& 

üuLnGnJ? 

tUrT 	T 4i 	3-ITT , Starting of tension length, QL6T566T Q606oT, -6T 

TT 	T t3T , Finishingof tension length, QL6T56T Q6068T 	-6T 	qGU 

tUaT QJ 	[JT , Midwayof tension length, QL6T56T QG06T -6T BGñ) 

3ctd MTr, All of the above, CLDCGO (51UL 1LL 	TJLU 

	

J- cr1 I d ', t ç 	I 	AT 4 d)  I 	f1V 	I '' F1P1 cfTT 

1R1T 1T1T l 	FT[ EFF 1T9T ? 

An arrangement of OHE over a track, where two sets of OHE conductors are run parallel to 

each other for a short distance & provide smooth passage for pantograph, is called 

CULrIJUiJLJ( Qw T6WUJT 

TJD 	OHE 2 6TLLIJ Q&L61T L6T OHE LJ 

Qüu®J6 	6)J6)J[T 	6pworrw. 

Turnout, 1_1J6TG)L 

T3T, Crossover, 41IJftGfl.) 6161J1J 

3c11, Overlap, 	6J1J C6OU 

altc'1 	Neutral section, ILIJGO Q&E&6r 

17. OHE ZFT r 	 Z 	t LJj1dI t1J 	cf,10 ZFt 31?T 	ff t AT 	d,II 

fr 	i' JRT 	f 	dT t I 	T EFu 	1T ? 

A short dead section of OHE, which separates two adjoining elementary section & provide 

smooth passage for pantograph is called 

	

OHE 6T 6),QIHJL QLL Q&& 	ub 	iiGfl 6TG51QD6TL1 

a 
	 Qw T6öLflJ16T G)J) €ribu® 

$-lcl 	311r1 1I, Insulated overlap, 	68T&460LLL 	6-11FJC60U 

1'tc 	M, Neutral section, 	4L1J(;\) Q&ã5E6T 

ZI3{r3fTlTr, UIOL 

3r4r1dTTaft, All of the above,CW60 QbOlLhilILLI 
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18. 	c 	TT EF t[Jr 	fv 	u 

tllLj 

Which factor should be taken into account to locate neutral section 

)ujL 	Q& 	 üub 6T 	6oi16UJ UU 

CGJTLh 

1) ff1didim iqY4MaT, Signal location, fil&6-a6b QCür 

2)M EFT 	Gradient of section,Q&5&6 	fJt.qUJ6oTL 

TITFITTT bIcF, Level Crossing gate, Qociji 	r1ri CL 

.3LH.'lc1d 	All of above, LUGO 	r6)J 

19. f 	7r3IT3[1T* 	3T3T? Which type ofturn out is bestfor main 

line 

Qwui 	U 	61 	6)J6UJ116T L6T aqLL 	JJ 

31c 	?J[, Over lap type, 66)J1JCOU 6)LU 

Knuckle type, 	6)LU 

qT# tg, Cross type, &iIjrF&0 6LU 

31I'1ctci 	 None of the above, CLUCGU 	6T61T6)6)J 6TgdqLb 	)E66)6) 

20. ..................... tg 	 .,-cc4itH tR ila1I 3{IZr 	?Obligatory structure is required to 

be provided at? 	 LL 	oLiji TJb 	1L1GO Qurr 	JrLh 

¶f 11'I Bridge piers, 	1[J1L 	l.N1uJijth 

Tf 	ctt 	 1Rl TT 	Before & after over line structure, 6)GO6T T'OLlJ&,&IJ 

6T6TrrLh 066T6arraiLb 

41W 	 Crossover&turnout, á1IJ1r6rO €QJIJ  LUDJW LU6 T q6L 

3c-çj FPJ1 All of theabove, GLDCGO 	0U13LL 	66TJLU 

21. 76F 3c4Ul, 	t chi.ci- . TR J 	LI& 	IT 	t 3fT 	34 	141l4 

iM 	 fv Tzfff4j ¶1T TdT t l 3 	1T FT 7raT ? 

A device, which installed in contact wire to separate two elementary section & provide 

smooth passage for pantograph is called 

61G)QLUTL1,fl Q&&i LfJ Cu 	JrrLrfc QrwuJrr6T 

)J) 6yu®) Q1 	 5(56) 

-ic1? 	 Insulated overlap, )6T&C6ULLrJ 6QJFJCGOU 

hFWI -ick, Section insulator, 05856T 	6TTCGULL1J 
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3)r& BracketAssembly, 	rráCLL 	i&bñ161'f1 

4) 	-T 	Cut-in insulator, 8L- 	16T 	T&CGOLL1J 

22.rf 	 M tT, 	1TT 	 1a-1-11 't 	T 

4c4ç 

At the location of section insulator, maximum stagger of contact wire may be allowed 

Q&6T 	CuLL 	1LU 	 Eu4)6i 
iuL& GOL& 

1)50f4tmm 	2)1001. mm 	3)200l't.mm 	4)300f'f. mm 

23. "F' 	.................. R 9?M f4iV x3ffi 

"F" jumpers are provided at 

* P RLhuT&o 

Insulated overlap, 	6T5rCGOLLL 	JiJCGoCi 

Hct 	 Un-insulated overlap, ,T 	)6GOLL.L 	G)JIGuu 

3Th3, Turnout, L1J6T 	GjL 
''f ttf LcHc, Anti creep point, 	6T4 . 1rJ1ñ urrui'6rrL 

24. "F" 	......... 3ft zFU;HTaT ? "F" jumpers is also called ? "F" RLhLl6nJ 	JQJ1rJ 

UftL 

1) 	r i'- 	cut in jumper &LL 	6T 	WUFJ 

2)a4c aTITT continuity jumper 	fL4 PLhUlJ 

7FqT flexible jumper UQ6U 	Li1GTT 	LUUfJ 

31T[ 	 potential equalizer QU11LL6T#11U6O R6W56T. 

25. "G' 	 f[1TaTc? "G" jumper is used at? 

"G" ULUU6J J(5j 	UC &JWF[LD 

1) 	3'-I, Insulated overlap, 	6T&GULLL 96ioCi 

2)3{L3 	fH 31, Turnout & Cross over, LFJ6T 	G)JL & 5,I3TTGfl) 6?G)JlJ 

3f 	31'lciIy 	3I13 	IT 3 	1, 

Both un insulated overlap & Turn out & Cross over, 	&COLLL 	G)JJGUU& 	6T 

T&CWLLL 96CGuL& LIJ6T 	IG)JL & &IJrrGn) 6)JIJ 

3t $c 	 un insulated overlap, M66T 	6i&13oLLL 9G)JCoLJ 
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26. 	 RT EFT 	T a1TTT (fI 	T/3ff3 

In cantilever assembly large size of bracket tube (i.e. inner dia/outer dia) 

C06uJ 	Q&LbLT@TIa60 Qu)u 	8:r5:0 	j LrrEL ULJLT 

(oToT LUJ1r/1ILLU LUJIT) 

1) 30 /38ft. mm. 	 2) 40 /4911. mm 

3) 28.4 /33.7 lIr.mm 
	

4) 2 5 / 3 0 	mm 

25 kvAc EIT fv o4o-Idd1 

Minimum working clearance for 25 kV AC is, 25 KV AC 6T (6))iDJibUL& 

N@TILLJI~6&G~0  

1)50041mm 2) 1.04l.m 3) 2.0.m 	4) 3.0I).m 

i- 	OHE 	t ............ # ltfldI 

Lightning arrester prevents OHE from? 6UL61fli 	Q1J1\.)L1J OHE 

1)ff 3ThU 	cI1 1l(èi, Surge & transient voltage, 5J& Lijrr6ôT#)11J6TL 	J1r60CL 

2) -ye 9TJ Jh cl-c EFT1TTUT, Corrosion of—ye path conductor, QL 	UT); 

3) #EF e.m.f., Back e.m.f., IF GILD 6TU 6151 I1615I 

4) 	k'lctd U3ft, All of the above, CLDCGO 	LL6J 	I615TJLD 

29. Id TF 	 h1 3Tf7r EF 5m.c'I IT[ # cbc4 	it TZf1~06 

I i t HM-4m 	r 	" 	 zrr zT 3mr V 

Non current carrying parts of electrical machine is connected to the general mass of the earthing 

through suitable size of the conductor" is called 

6TL11thGo Qw ôi 566TL 	cburr ucrr CIRRTUdo wrro 
6TJ(L6T QuITLDrr6oT 	6GTTGfl 566151L5LU Q6T' 

	

615Ti) lG)iQJ[[ 	 uG&Mgd  

d-1dI, Muffing, 

3ldI, Overlapping , 	 cUU131FJ 

3{fT, Earthing, 6TUI)1hJ 

cI,'i~dI 3TtTT, Lightning arrester, 66)60L.615l1FbJ 	1QrJGUL4 
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30. "R" Ttt 91f EFT iyl? Size of "R" type portal? "R 6LU CU1njLL516T 	461T? 

1)450 x 4501?r. mm 2)550 x 550 	 3)60(1 x 601L mm. 4)6() x 050. mm 

31. TTC EFT qo' 	T ............? Full form of TTC mast is? LL701'L 	 )GLL(LITT 

Track Tangent Cantilever, tiur I_T 	TL G37L0vGJ7. 

Two /Three Cantilever, 	J6TJ / ep6Tgu C6TQG06JJ 

Trouble Track Cantilever, LrjLr[ Lrjrrá 	QGUGJJ. 
Two/Threelrackcantilever, uFJ6T® /Lj6TJ LrJrrC6T4QaJi. 

32. 

The distance between centre line of the track to the nearest face of the structure is called 

rri Q56ãTL 	O(LD ft[&O cflGfl GOLU&QLU 

	

LCUJ 	TGIT 	 16J6)J11 	 ffOLD 

1) 	c'1 	Clear span, 8G?11UJ 	CU6öT 

2) 	tftfT , Track separation, 	LLUrr& Q&urj&6T 

3) $~rr, Implantation, 	LLUir6L6oT 

4) 	14, Track clearance, L J1r8 	1GT1UJrJ6TGr\) 

33. 3i4) TiT 	 .............. t9T ? 

Minimum Implantation at obligatori mast is 

LJ2LL LUfl)G\) (6DUL& uW 2LO,Q61 

1) 3.0 Jft.m 	 2)3.2 Tft.m 	 3) 2.5 9ft.m 	 4) 3.5.m 

34. Tfffotg f'rr 	5rt OHE # 31'1di fV 5ITt t, 

Solid core insulators, which are used in OHE mostly made of 
OHE si.) UUJ6TU®UU®LD ffrrL Crr 	6T&CGULLIIG 

1) ft41 Ic&,Porcelain, Cur 	16156lT 	 2)T, Glass, &WITGflO 

3) L.nll, Fiber, 	:6)uurJ 	 4) 	P.V.C., L 6) 

35. 	 OHE 4, 	 AT [T 	T iVM dft 3 Tcft - 

	

[ AID 	, 	cbi3 	T 	T 	da-ii 	1T? 

In semi regulated OHE, i.e. one end of tension length is fixed anchor & other end of tension 

length is anchored on 3- pulley block type ATD, What will be the weight of counter weight? 

QL6 QIJ!IC6ULLL OHE GU Lj&L 6J6oT&J Qir&iói Q6TT 
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US 

(Lp66sTuijLb Qii QT6ôT 	QJIDU[Q (j369 3- 1-4606a LJ6TIIT& 

6LU ATD 1LJW 676T &j1rF Q& 	uuL6TT6rTJ 	6?flLUJ &G)6TL 

Qju.L 6T6T6N7. 

1)665 kg 	 2)333 kg 	 3)400 kg 	 4)1250 kg 

36. OHE 	c4i(ctTt 	................ ZFT tTai çdja 	 çJfl 

Current collection test is carried out in OHE to find out OHE cU 	rjrL Qcorrür 
QLGioL ibrr 

iaI TP 4't 	1)di &TJTM 

Current carrying capacity of catenary wire 

C&LoT1 6JUJ16T &U66mLL ffLLU6öT 	Jj8rr& 

c4ij~c4 	TR 4T 	'.4i)di gT3[[ 

Current carrying capacity of contact wire 

ffT6TL&,L 6)JuJI,t16& &q6dmLL &LW 	)66)6T 	J81t&) 

'.iIJ-4 	 bii T[flT 

Current carrying capacity of different jumpers 

UGU6)51JLD1r6T 	UGTT 5J6TL &,LLU fto 65T 

d)[q- E1f 31IclIjlI 	i'ia .- jfdi 

Location of sparking during movement of pantograph 

CU6TCL1F J1TL] 	 Curr_N crournj 6JDULD 1Lrn 

37. 	ir 	 I 	 fTT ftt 	 T 	I[ 'liI 'I 	-I 'lid I 

Places, where sparking takes place during current collection test . What may be the reason ofsparking? 
5J6TL Q6T&68T QLGL Qu.JuLb Qurr 	 thcñurr 

6JflU6TWj 	W( 	1r6TW T6TöT2 

OHE qfcR aTift t, OHE is not proper, OHE &1UJ[r 	cO65)6) 

, Track is not proper, Liyrr 	5-j1iurra 	cico Lijrr 	&j1ujrr 	cUco 

,dJ 1TER irTft t Rolling stock is not proper GljffarfJ 6P3L1r8 &fturr& @GbMco 

.3Lh()ctd F11t T, ZIT I't (a) T (b) ?IT (c), 

All of the above or either (a) or(b) or (c) 

CwCo 	GTT61TG)J 	6öTJLU 	GU6UJ (1) 	Gt)6UJ (2) 	6UGO 	(3) cb 
6JI1r6)JJ 63dTn  

38. 	OHE 	 Tqf, 	 ............ 
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From any live part of the OHE, tree branches should not be nearer than 

OHE 6151 6T 	9(5 6GO6J UULU W 	6GT11T 	(U 

&iL rrj 

1)0.5l.m 	 2)1.m 	 3)2.m 	 4)4.m 

39. 	OHE zft 	 k 	 ............... Lç 	 f5Rff ff TM dl 

In one tension length of OHE, maximum splices can be provided? 

OHE 6151 9([5 Qu6T8: 	Q6O6T J O 	l&UL& 	U6)GOGfl) 	15G\)1FW 

1)20 	 2)15 	 3)25 	 4)5 

40. RTU 	 Expand RTU RTU 6T 	16)J1t&8?LU 

1)Remoteterminal unit, FW1L QLI1L616TGi g6dfl C 

2)Remote transmission unit, 1CLUrrL 	UL11.S61 gafflL 
3)Remote transaction unit, rjlCLorrL 	&rr&6T goflL 
4)None of the above, CWCa) .GTT6U6)JJDE51) 6T615))J1LIW Okbmeu 

41. 	-1lh'lJ- 	[3'-1'1dI. ................ HIt1 	1111TaT 

Micrometer is used to measure the 

wECrr LÔbLL 6T6 	I6UU UUJ6TU®1gJ? 

TffTFJft zRt 	I9T, 	Accuracy of the material, QwLL1J5)6T 

cf G)J J 

ffT3-t Zft J-l'kI,,Thickness of the objects, QuLG6T 	L))LLJ 

a-ii), Current density, &g6dZTLL QLT)Li.q 

3Y(4-d 	All of the above, GLDGW (ØlCiLmLL 	615TJW 

42. 	 ZFT 	4)i................. 	fiv 1rr 51TT 

Multimeter is used to measure LU60[q. LLLIJ 	UUD( U11J6U®çDJ 

1) 	'-èi,Vottage, CG)JITUCL 	 2) 	, Current, 	61L. 

~ffl \Lit 	QIJ#kUL6iTQO 

31ctd F4t,Allof the above,CWCU 	[JLLL 	615)6TjLD 

43. rTt ................... 

Tension in the conductors is measured by 

L6TY68T QL66T5GoT 	UUD( 

14).',Dynamometer, 6L6TCWft L6"L1J 

Joi 	, Union screw, 46?)UJ61 	U(Q, 
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3) 	 Trifor super, L6JU1rFJ 	uurj 

4)34-d Raft, Alloftheabove, CwCo 	LL66- J 	66TjLU 

44. 	OHE cff# q 	ft 	 i 	frr Trr tj 

The tool used to make a perfect gripe on OHE wires is OHE OHE 

JUJIj1U 	1UJrr6tn 	LJ6)U 	 &1r6TLU 

tTr LIcdl ZEf Come aIongClampW 	JGO1[[bi 86TT[rLUU 

[tfT Max-Puller Ctflff,ro -Ll6u6UIJ 

tfft 	Pull-Lift L6O-G51LJL 

F tIi') 	TT 	Rope pulley block CIJIILI L46O\51  LJGTTIr& 

45. 	 C)HEZfA#Uj:T qT iTJdllJ 5Tht ThTT TT11t ?t 	- 

Caution Board applicable at Dead-End OHE termination is - OHE 

QLJLC6oT56GO 6T&516 	CUrnJL 

TFFdVFT OHE 3fr1 31c'1l1 t, Caution OHE ahead is alive, OHE 	OGJ 6T5&6)Th 

l-ht5, th4), Restricted Clearance, 	 J&LJULL &G?11UJrJ6TGn) 

Qu 

$cc4-i 	[T TZfq, Electric Engine Stop, 6T6U&LLlfl& iT 	oirü 

4)31ah1l1. 	[-3-1T3, Unwired Turn-Out, 	I6J1UiL L6 	c6IlL 

46. 	'!1wr EFm t /What is Super Elevation? E,5UUIJ 	G)JG.$6T 	I[[\) 

6T6T6T? 

1) c4W AFF FPT IT 	Length ofSuperMast.UU 	U[tf'OL 46.T GflLO. 

2)T 	9.5mt zft 	3-11 	Mast morethan 9.5mt length. LU1FYUL 9.5 LL 

* 	3) TA tEF 	3T3 	f ZFT 3LlcLc  The uplift of outer rails on curved tracks. 6J6)6116)J[t6T 

JJGb GLL Qucb iü5üL 

4) 	-31T3 	c*ièth. 	TR # 3TT? ZFT 3tJT Height difference in contact wire at turn-outs 

1r6TLCL8L LIJ6T -4QLI4G6 	UJJ )1UJft&Lh 

47. ................. ..ffT 1'1 	t 	l Long Creepage distance is - GOF11FJ 8UCU16T 	GYTLU 

1) 2000lmm 	2) 1000f41mm 	3) 1050lmm 	4) 760f41mm 
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48. vTtFt4cq P11 4T 14l 	 . 	flT IRT oiTdT t Adjustable Dropper is used for - 

,DILRdk)LO61T Lrrüul 	jjb&rr uuu 

1) AID 	 2) RRA 

3) #4WaT 	ck't Section Insulator Q&8&6T 	GoLLrJ 	 4) ACA 

49. TSS tfl 25KV Zft o-4a-ldd-1 ic'-I-? Minimum clearance of 25KV at TSS? 25 kV TSSG\) 

LtLDLb 	UJöT6fl) 

1) 3.01')M 	 2)4.0M 	 3) 5.01'tM 	4) 	 6.O1'lM 

50. 	25KV 	 f1 	 3dl 1:4[ 5ffJJ 	 -4 

Insulating medium used in 25KV circuit breaker 

25 kV &IJ&4L CI&&IJ  ö 	&CUlind LuJwrrff uucUrrLh 

1) cl-d-1 ,vacuum, CJ&c,6JLU 	 2) 	[, oil, 	1L60 

3) SF6 t1I, SF6 gas, 6T&O 6TU 8ft6fl) 4) 	, none, CILDGGO 	I3ILL6J 1Gt)6G0 

51. 25KV rfrT 	FM 	 Th1co,,iwA4 cFT 

25 kV &U5,UJL  Li)CJ 	60 	546 	LUJLD1 UUjGO[[LU 

Type of potential transformer used for 25KV feeder protection 

1) Tf/Type-1, C8JLU 

2)?Ttf/Typell, ,Uj)6O 

Ttf/Typelll,  61t) 6L-U 51TGflO 

anone, CLUC6O 	LLLJ 1606G\) 

52. TSS t[I 	 T 3Zf/TSS  6T 	U1TI'1LL1 UFbJ&,Gfl)/Purpose of capacitor bank 

at TSS 

PF # 1T-IT1,lmprove PF, PF 	
4 

c-i [TI, Improve voltage, 	T6L. &0 Q&t.LJQJJ 

TT1, Improve current, 	&0 Q&1Li6)J] 81J6hWnl 

T)t aTift, None, 6T4L)60660 

53. 	CB 	 i?dl 	 Jff 

CB 6T Q U15LL LÜLJ 	jGi 	Jirrrr 	jo Q&1iJuLb 

Capacitor tripping device in CB will act at 
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ME 

1) 	1r 3-]Hf i(dl, DC supply failure, 	iql &U6)G1T Quu51Gl511u1 

2)tT 	3T'Tf 	hc1dl, AC supply failure, 	6Ji) &ñcrr Quu16)ujir 

25KV 3Thf 	tcdI, 25KVsupply failure, 25 KV 5-U6)61T Quu.1c5lurj 

110KV 5Ttrf Itc1dl, lloKV supply failure,110 kV 51116)GYE Quu.)G5)uJrJ 

TSS # 25 KV fR 	tR o-o-ldH €l-lclk 

Minimum busbar height on 25 KV side at TSS in metre 

TSS LLL1Gt) 25 kV GO 	 L44 U1nj)6T 	UJJLU 

1) 4.80 m 
	

2) 3.80m 	 3) 3.00m 
	

4) 3.5Dm 

TSS tR 31[[ 44l 	3 	f 

Maximum combined earth value at TSS TSS 

i 	15,uL& 	 6Tá CGJbuj 

1) 0.3 ohms 	 2) 0.4 ohms 	3) 0.6 ohms 	 4) 0.5 ohms 

10 KVA 	iih 	 ............ Ttf  37R7 tf?Tf  fJ{ .jLdl f1T 7T9T 

Drop out fuse rating used for 10 KVA capacity auxiliary 10 

6J )5,UUrr 	 &O6O1 GO I1JrrLJ I6)JL 'U)T GULL4rFJ 

1)1A 	 2)2A 	 3)2.5A 	 4)3A 

10 KVA AT(R[ 	M) 	 -t9T JF3 L 	 rjtwaT 3'-4'ldl EFT 

¶zTT T[T 

Under ground aluminium cable dimension used for 10 KVA AT (cross section) 

10 kVA AT ( ifIJrrGn) 	 JG).6TL 	L6161UJW CLcTJ 

6LQ6Q6Tr[if, UUJ6T UUUDJ 

1)50sq.fmm & Lti1L 	 2)60sq.fmm if LIS1LÔD 

3)70sq.mm  if L61L 	 4)80sq.17mm & L15)LI3 

SSP/SP ITT MhTJf hctd 3T 	11Q1 TTFr ............. 

Maximum combined earth resistance value at SSP/SP 

ssp i SP 6T1thuLif 	 6T 	Q 	1OL6Tf1.) 

1)0.50 	 2)10 	 3)20 	 4)50 
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3T rT............. 

Length of earth electrode at earth pit 

6 	L 	1Gi) 	 tthLCijrri uth 
1)3M 	 2)4M 	 3)3.3M 

4) 	 None, CLDCG\) 	fl61T6)6)J 6T4LU 	O60 

PSI 	 c-JJ- I ft  TJTM 	ITt fRTF  T9T t I 
Competancy certificate issued for PSI technician 

PSI QL 	 T&&rr& 	wrri 	6T1f51L 

1)TR2 	2)TR3 	3) TR4 	4)TR5 	
-4 

25KV Efl 	IR RI 	F9# t ......... ATRI 1T cFT 3 	1f 5ffdT 

Megger rating used for measuring IR values on 25KV side 

25 KV 	1F6öT IR CGJ60 	 nm 	GLb Qwr CULLqAj 

1)500V 	 2)2500V 	3)1000V 	4)None 6TJG16t) 

62.3f tT 	.............. 

Fire extinguishers to be replenished in period 

	

6TUL &Tft,6Gfl 616WoT W J 	9( (6J 	LJU 

t! 	Monthly, 46JQ6)J1r( LUrrpw 

Ft d11, Bi-monthly, ([ 	(4D6fl 

3TT, Half yearly, 	LD)D 

U 44, Annually, 	 (1 (J,O6)1T 

63. 	1cc 	[f 	Lo1IcIdI 	 1)ld 	fv j4li 1 	mk mr 

6'i-wll i5FT FZTT 1T1 ? 

what is the name of equipment used to convert digital information to analog information 	 4 
LclLLGi) 	U6GU mmeurr& 	UGTT1r LUrr)Dg 	JQLU 516TLD 

6TJ? 

1) 	Transducer L6qU4,J 	 2) -id-1 Modem 	LU[LLU 

I16 1Z Digital metre JLLGt) LÔbLLEJ 

3cfd Mft All of the above CLflC6O 	 61JW 
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SSP 	T1TT 	ET 	fTV ido BMs 

How many BMs are there in SSP for double line section 

SSP LL)6TT 66U6T Q&&6o11GU 6T 	66)6lfl 

1)5 	 2)4 	 3)3 	 4)2 

SCADA iTT 	-dk 	? Expand SCADA? SCADA Gi16T )5lIjlG)Jfr&5)LD7 

Supervisory control and data acquisition 	5UU1J6)6)J&1J th6TLCrJrra 	66TL CLLLJT 

uC&6T 

Section control and data acquisition 05&ñT a6TLCrjrri) 	m 66m LL CLLLJF 

Supervisory control and device acquisition 	UU6)QJ8Ij &66mLLCqrr6b m6euLL 	6))JGfl) 

UIC&6-ôT 

td 	 TX None of the above CLDCGO 	6TTGrT 	Lt066U 

66.3- 	 TT 

Earth —Screen is a protection against - 

-o1i 616 TUJ 	JDQ 6TJ[6iT u1F1LJLI 

1)f cu1c'-~.ii, Touch Voltage, L8 C61JFT€UCL 

2)tt c1(R.l, Step Voltage, n)QLU C6)J1IUCLgg 

3) 	i)Idl 	Lightening Stroke, 6)6OL61FhJ 	4C1JIT8 

4) 3T4 t,Earth Fault,6T1J 	',urrGbL 

67. TSS 	100KVA AT EFT 3dI --lc ffIV fTr 1T9T ? 

100K VA AT of TSS is used for 

TSS 	j6)LUJ 100 KVA AT 	D&1&, 	U WftDJ 

1) II* 61)dI Yard Lighting uJrrrJ® 	oLi.qiii 

2)TStandbyrOCL6TL 6ZDU 

3) 	CTT Filtration Plant 	G L1JG196T LJIGTTrrdTC 

4)7T 	ctct TtERW Power Factorcorrection. U6)JFJ .'.CU&LIJ 86T 

68 	 34'd! fi 	 RT aTCT 

ti 

Hand tool used to put the lug on cable core tightly is - 

CLiTT 	Fr[jl6r w& 6LL Q& 	r,j&ira 	uC rñujLb Geim6dmL 	ö 
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?1F 	T, Torque wrench,L1rU8  )6oT& 

Ring Spanner, 1J GTDUfT6Tf 

i).4dl 374Ul,  Crimping tool, )1j1LUL1FiJ (JGi) 

LN T1T, LN key, 6T60 6T6T 

69. 	11Tb 	-cilcul 	-i 	fv ... . ....... 3qcFm EFT 6 qvldIr51Tdrl 

Instrument used for measuring specific gravity 

oQu#) Lil. 	F6)6flUJ 	L Lb 	&mb 

t-1kt, Hydrometer, 6)DLCFJ1r LÔbLLIJ 

Hygrometer, 6)fDCFJ[r LLLIJ 

Barometer, Un1J[[LLL1J 

.3ctd 	 None of the above, CWCGU 	6T6TT6)6)J 	G)JULD 	606U 

70. tn 	 r B D V .......... # 3Tf 	tir t i 

BDV of power transformer oil is more than 

U6)J 	 U6T BDV 	66)L 1LU 

1)55 kV 	 2)50 kV 	 3)60 kV 

4) 	Tt 	ITII' None of these, (3wOv 	rsmJ 	iuL 	su 

71. 1fThT 11t 	cb ffT 	T 63iT ew V 
Bushing CT is associated with 

LIQ1bJ kq 	jtôi 5LbUiULLJ 

1) t1T 	 Powertransformer, UG)JIJ 	1Jfl6TG1OUrr1JLU[J 	2) 100 kVAAT 

3) SPtR AT ,ATatSP, SP6T AT U360 	 4) tT CB FeederCB 	LIJ CB 

72. SSP JftcIT 	3T SSP 2K BM IiIdI 	TU OHE 	[TH3T 	cle1 tT9T 

k 

On a SSP over lap, which side of OHE gets parallel by the paralleling BM of that SSP? 

SSP 	UIJCGOU6160 SSP ET 6TB ILIA,& OHE CUIJGOi) BM CUOL6T 

1)TSS 	2) SP 	3) Ie1, middle, b®696t) 	4) 	 both side, 1J61T®  U5(j4L 
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73. 	TSS 	FR 	r, 3 - - 	r 	T -ldc 

What is meant from Earth-Screen, in context of a TSS? 

TSS 	Qurr 	6)J6U 6flJ- U1,f61T &qAEbLh 

3{tT 	TlT3 34, Under Ground earth-grid, ii1 	iii 	 1i 

Y4 bdl 3RT 	TSS Earthed fencing around TSS, TSS 	&J)) 61TJL Qu6TGn5nJ 

3)VEF tld1o4) - l*, A caution—board, 	&11&i65) 	Currij 

4) 'lthHL"H 	tlT 	c4, 	lJ 3f4 	Earth wire hanging on TSS gantry, TSS C861JTL1j1 

LE&d 6T 	6uuJ 	rn 	Q j&j 

74. 	CT AT PT 	 cldI ? 

Which relay gets its input from both the CT and PT? CT 

L0DLD PT I&T160 &55 6T 	 8j @dTqL 6L5i!DJ 

1) OCR 	 2) DPR 	 3) [FR 	 4)DFR 

75. CTD Tf 	. ccIc* cl-1T t CTD is an interlock arrangement - 

VEF rblc ,H 	 , ltisafalsestatement,lJ 	6)JJD1[6T 	8)J6.) 

2) CB itl AT 110 	DC 3{rt, CB tripping and 110 volt DC supply, 110 	cbL 4é1 

	

üii LDbmLb 	iI Ll)1Lr 

3)CBiè4dl -AT 3{Rt .cFe'l1', CBtripping and autorecloser,.1Li 	ini ubjth 	LCLr[ 

Ccnrr&ri. 

4)1 	ci)cR1 aft 3TT, High voltage and alarm, 6D)ff 	6)J[IU2L 	c6TL 	U11JL 

76. TSS Eft 25 kv zm R 3ffTT9T 31 -1J-d c'lc~1 

Maximum permitted voltage at 25 kv bus of TSS 

TSS 	J66)L.UJ 25KV U61U6fl5T IUL& 	WaUULL 	1[OLL 

1)27.5KV 	 2)26KV 	 3)29Kv 	 4)30KV 

77. ........... .ft 	Unit of Current is -------------------------6TL46T 	IJ,6f1L 

1) 	ZR, Ampere, &I,LDL)UJ[J 	2) d)èi, Voltage, (:G)JflOL 	3) TUix, Farad, uirryL 

4) 	TJ[ 	 None of these, CLUC6O Q&T6T6QJ 	6)JU4L0 	O6)Gt) 

78. 	iti A 2r IR 	......... 

IR value of transformer windings are to be recorded with 

rr6TGrOUffrJLD 6fl6)J6TIiff 6T 	 CGUULJ6o6)J 	L6T 
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Q&rr4i1I Q&iiu C6TLb 

1) 1 .5KV 	1.5KV Megger Qw&,ij 
	

2) 500 V megger,500Vmegger 0L0ff&1J 

3) 2.5KV ZIT 5KV 2.5KV or 5KV 
	

4) 10kv 

79. TSS # 311dl 4r 	1T'l T81T ...........2 The protection used in TSS? 

o 	uC rüu®i uLiiGu uftrriL? 

OHE 	- M OHE protection 6? 6T8 	l U1tj81!UL] 

ZFTT Transformer protection 46TGrOU1r1JW1J urrJ&)1rLIL) 

1II 	 Both protection 	1J6T®LD 	
"1 

1F 	 None of these TJ61LD 	GU6)61) 

80. NCT1 .3dl 1 	ñZIJT 

6T6T 	4 	6U U1rj1rL1 

NCT is used for protection of 

YIk' 	, Capacitor bank, Q 	UF11LLFJ CUFhJ5 

I,d-H,  Transformer, 461Gfl)U111JLU1J 

0HE6 Qç& @ 

Tf 	T, None of these, 6TJG14LD 	606)) 

81. TSS 	2K TMI c+1 t f41T ..........DC 3-1T7ft 3f1T 

DC supply required for operating of relay in TSS 

TSS 6T [CGO66)J 	 DC &U661T 

1)110 V 	2)100V 	3)115 V 	4) Tt 	 None of these, 6TjG11W 	1GO6lY)G.) 

82. ft 4i f11T 	 ? Differential relay is for? 41J 	1LLJGk) )CGO ,5)1r&? 

k-4Io-I 	 Transformer protection 4FJ1roTGrOU[[ULU1J Uftj81LJL4 

OHEIT, OHE protection, 6j 6T& @ U1t1th11ULI 

f1T, Both protection, 	[J6T(LU U11J&JrLJL 

ft 	None of these, 6TjGlL 6606)G) 

83. 	r 3irvr 	 3TZIZI ti 

Block required for gantry maintenance 

C66TL41 Ur1rLU Jb@ 
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V 

	 S 

1) 	 only 11.11 WLLb 	2) 	DN 	DN only DN LDL('Ln 

3) UP 	DN UP & DN 	U&L6)6T 	 4) 	 None of these 0JLU 

34• 	TtuaT qT f#Trcr tfff 	ç7J{ 

Single Pole Isolator at switching station & 1L)ETJ 1OCLG1pJ6nLUJ I11bJ6T Curico 

CGn)rrCGoLLI 

yr 	
1)SF 	2)SP 	3)SM 	4) 	T1 	41 aTft None of these YqjjGqLL 	ow 

85. DGA tTDT 	d-Icicha zti flV 	J TTT l 

DGA test is done for assess the 

Cu QLGuL u&u 

cI -tTH 4r MT4 ¶T1, external condition of transformer, 4lJflT\)11ITIJLU[J1GO Q6- Jc1ÜLIW 

k14l4i. 4I 31Id).c1- 	internal condition of transformer, 	Jrt6rOurr1JWIj)6T 	nCu 

(1Lh &wi 

t, both, 1IJ6T(3LU 

Tf 	't aTift, None of these, 6TJG)L 	GU60)GU 

86. TSS 	¶ir Tt mTr qW diJ 	fT T 7 

Power transformer used at TSS are TSS 

61 UQJJ 4OUftULU[)1GU 	UCUJft&LJU(JUU(3LU 

t1 	Step down, cTDQLLJ L616T 

f 3T, Step up, thQLÜ 	U 

It WF7, both type, 	fJ6T(LD 

None of these, 6T6)G)JLLIth 	6flGO 

..................?RatingofLAprovidedatllOkV? 
110KV @6b Q 	&tiiuL(iiii 	616T CryLr1i 

1)96kv 	 2)150kv 	 3)120 kV 

4) 	 34't 	None of these, 6T6)6)J1L4LU 	6066)GU 
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88. F416i4iA6 ............ 	 I c1 t1T 5IT9T t I 

Silacagel used for the purpose of 

rrffrrb 	uuJ6TurrL4 

i-Ptlái 	TP1 	f.R1 	T1, Keeping transformer neat & clean, 

rrLh LLrr& 6)6)JjTh 	 JD(, 

di 	 c)c1 TUT ,Keeping transformer attractive, 4OUhF1JLU6O')1J 

huiurr, 

iHthId 	Tt 3Tr 	 rt 	Keeping transformer oil moisture free, 6T6TQ6TUJ 

FFWUL@GbwuLD 	 urr LD6-nU J) 

4`I9i't 4t -*qW Uef TrTJ 'ts1o1l, Keeping transformer oil dust free, 6T6UTQ6TLU 	JT& 

1GbGOffLU6b 	 UflTJLU6 	66)J) 

89. 3ilcl- c 	ctblJJ. 	3-4RTU EFT aa1d,H 	f3T ccè71 

Minimum break down voltage of oil in Auxiliary Transformer 
GGi LqU 	LJTULEI 37aL 

JUL 	L93 rji L)JGT 

1)35KV 	 2)40Kv 	 3) 30KV 	 4)45KV 

90. t1TT Cililhli 	 —qa:ldH 3f1ff 	1f 

Minimum Oil level indicator in conservator of power transformer U6)JJ .qJJ1[6TrUU[rFJLU1J 

i 	C6JLL 	 LJLif u1i 

0)6dr4(:5)LLL-q  

1)1/2 	 2)1/4 	 3)1/3 	 4)3/4 

91. (i)fTrr 	21.61VIVA tIT1 	i'-P-bl 	 'T ITf............... 

Tap changer available in 21 .6MVA power transformer in Southern Railway 

QT6T 	 G)JU6?5T 21.6 MVA U6)JU 	6TGrou1flJLUIj16u CLU 	&'r Ar 

AT 	ON load 	68T CGOIFL 

3ii'f 	OFF load c&JLiI  GWrrC 

3TT/3TTq Ft eltboth ON/OFF load 468TI 4U CwrrLL &66v&b 

NIL TJ6)L 	b&u 

Or 6UGOJ 
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(ii) aTrTff -Hcbk 4r 	t;T ;&t ? 

Which is the Official Language of the Government of India? 

uj 	 QLUIFLffi 6T? 

1) ft Hindi 616IbR 	 2) f6itt, 3{5t Hindi, English 

3) 3-151 English ffl1bi904 	 4)k- Persian GUqff)uJG7 

92. (I) )t 	 tr oiT TTWaT 

	

46)6Y166 CLU C& 	Qujurnb 

Tap changing can be done in the condition of 

V, 
	1) 	HV CB cRq),3­15 HVCBclosed HV CB 

2) 	LV CB c1-ciLVCBclosed LV CB 	6öLUULGr16TrJ 

3) 	HV -4tT LV CB 1it 	1i both HV & LV CB closed 	HV CB & LV CB 

LUUL6flGrT 

4) 	HV AT LV CB 	 both HV & LV CB opened HVCB& LV CB ft&&UULL&nGntj 

Or 

(ii) tf Tif 31alLc 	Z1 1dIdI 	f 	r 4r Trzirww 	r ert 	fI1r pc1a-Hdl 

Which article declares that the official language of the union shall be Hindi in Devanagari Script 

wu 	IIJT 6T 	5LLñ L1G1 	 6T(T166 	60t 

Qwrr1 rrT 	QmrrLp TTJ 	 U®DJ 

1) a Lcc Article34O LLUL111G1 340 2)3t 	Article34]. &LLLJL511J1Q 341 

3) 31ot.ç 	Article 345 5LLUL1j)61I 345 	4) 3-lolt- 	Article 343 	LLUL)[J1G1 343 

93. (i) 	31TTf 	l? EFT a- fr1dd-i 	f ........ 	tl9T 

Minimum sphere gap of transformer oil testing kit 
LO%UrOJLLTJ 	 LcLJ L J)LUJ Q)1UL 

L9?ujd 

1)2.3fmm 	2)2,4ltmm 	3)2.5mm 	4)2.6fTmm 

OrGbU] 

(ii) lc1II°t 	 1m iida4 	T1T3 	djIo4dI 	71 	? 

How many languages are recognized by the constitution at present? uQUft(!RJ 

60611)LI3ULI 5LLGO 	 ThffUULL Qrr1ff6T 	GoT? 

1) 20 	 2)21 
3) 22 	 4)24 
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94. (I) 25KV 	tfT j?J 	 fp 	ii 	Tr aTcff 

Current transformer on 25KV side used for 25KV 

j6)LUJ u 	JrrL46b u 	üu®üub &U6óTL 
1OUIjLUI 

f[T 3 	 TTt[, Protection & current measurement, Ufl]&ftULI WUJJLD 

6T6)L GTTLJUD( 

TtrT AT 	Protection & Indication, U 	ff1FLJL.l WWgJW 

ft€TT AT ci')c'-èi TTq, Protection & Voltage measurement, U1tJftUL LoftqLh 

G)iftGUCL 	rTüubc 

, None, TLU j606)G0 

or OUJ 

(i i) 1:;R. 	c1-1' 	, 	 d9o-lk-1I 	f[dT ? 'Hindi Day' is celebrated every year on 	 16-6TLD 

L1r6- J(LLU Q 6öTLr1LUUL 	rrT 

14 f~ldw 14TH SEPTEMBER Q&ULLDUIJ 

19 i1dH 19TH SEPTEMBER Q&ÜLLhUFJ 

14 	14TH NOVEMBER IQJLUUU 

f[ 	 NONE OFTHESE 	J6LLD 	O6flG\) 

95. (i) qW t—rFU k fttr 	cf'( jo Calculation for power factor UG)JFJ 'CUffLIJ 66MAgG 

1)KWH/KVAH 	 2)KVARH/KVAH 

3)KWH/KVARH 	 4)KVAH/KWH 

Or 	M G~)6UJ 

OLIC zFr 	4-c!I't 	'T 	1T 	? What is the expansion for OLIC? OLIC 6T6TU6T 

Official Language Implementation Committee , 	 L61j1UJGO Gu1[[bJ(CG)J 
Qw6L6oT ffLLL 

Official Language Indian Committee, U0IUa 	riCj 	hui L1Liq 
Official Language Intermediate Committee, 041.50LU60 	FJ(C6)J 	16TL1JI&qUJL 
8L51Lk 

5arTf # ft 	None of these, 	TJLL1LU 	G)GU 

96. (i) CMD ZFT t1T 3T tR[F ? CMD stands for? §I6T11-U4 CMD 6T6&Uj 
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1)Combined Maximum Demand, 	LD6U6TL Cwr51wLb qCwiL 

2)Contracted Maximum Demand, 	6IL1J1[&)LL Cw r'6)LULh q(:wthrL 

3)Current Maximum Demand, 	 W&6r\5LDLU 4Cw60oTL 

4) 	, None, 6T 6G)J11L 	ibu 

Or O6O,j 

(ii) T31T{F )3P4 	31ck. dic'oll ¶T 	3lddCld 3{{dT ? 

According to Official Languages Rules, Tamilnadu falls under which region? 	L) Qwrr 	&LL 

116TU 	L)LB® 64 	LpB1r( 6T 	 6Th\) 

1)D 	 2)C 	 3)B 	 4)A 

97. (i) 27 fI 	q 	cii 	T -iia-ict ff1j d -cflcul 

Standard specific gravity of electrolyte at 27 C 

27 °C Gb 	LjrroL 1iT GroLrr6TLJJL GrOQUgLL 	JrF69 

1)1205 	 2) 1200 	 3) 1210 	 4) 1215 

Or &1Gb6uJ 

( i i ) 	 31dt4 	 Zf5RT 1 	rET t t-'T O-A ZiTt F,  TrFT 

1ThS[ cRt c 	I FITT 

Which Constitution Article defines official language for communication between the state and 

another state and the union? 	B1LLJ 	6T 611i5 	&LL G)l 

wLb WLb 	w1u 	ILb 	LCuJuJrr6T 	L1 

Qwrru 	 DI? 

31ø1t,ck Article 349 	&LL 69,9 349 

31a1L 	Article 346 	&LLGl 346 

31o9t-c Article 243 	&LL 6DO 243 

rc Article 305 	&LL 651 305 

98(i) 	 [3T 	........... 

Panto flashover relay provided for the protection of? .',CU6TCLIT :04 	61J1J F,fKGi) 

urr ubc, uuJ&u®jj 

1)FP IOL OHE F 

2)FP catenary PT FP 	LL6oT[ PT 
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3) FP c'1ii~i01 	'-' EP lightning arrestor 	FP 	oL1)rii 	QrJroLrJ 
4)FP BMs 

Or 	M GOGUJ 

Into how many Regions Indian states have been classified, according to Official Languages 

Rules? &bOaj 	Ll QwrrL 	06T utq. tuJ 	OrF&U 6T6öT 

iirn 	 uL®u 

1)4 	 2)3 	 3)5 	 4)6 

99. (i) 	f,j)ç 	d4, 	dl t . .................. T7AZ 31R4tdI ç[f #q 

Split arcing horn gap for auxiliary transformer bushing 	1Q)GO1J1 Lqr6T6rOUflTJLUFJ 

LGftIJ &&1r6T fl)L6I11L 	JUFJ 	1F6?5T 	@ 6L06)J Gffl 
1)80.5+80.5t4tmm 	2)81.5+81.5fmm 3) 82.5+82.5fmm 	4) 83+83fmm 

r aA 

(ii) thi 	k 	3f1rr 	r fr? 

In which of the years, the parliament enacted the Official Language Act? 

QÜULL 6T 	LO @5Ru urrrJ[rLU6T)Dw 	L1QLD1F 

&LL6 	 ))UJJ 

1) 1965 	 2) 1964 	3) 1963 	 4) 1996 

100 (i). 3f4 'cfff TT a-Io-1dJ- j. ...... ......... .. t Minimum separation of earth pit is 6T1J 

LLT 1-61611wth Q&üuri 

1)5M 2)6M 3) 5.5M 4) 7M 

orIGOGUJ 

cbtJl 	fv 	dl mTq 	 f4' rr R1T 

How many Hindi courses are prescribed for Central Govt. employees? W J )LU 11J& 

(65j 6T66T 1gE C&o uftN6nU&&L~uLLG~ff@Ttd  
R,four, )I5fr6 T( 	2. ftT,three, ej46TjJ 	3. qTf, five, &ftN 4. 	, six, 40 

END-------------------------- 

I 
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0 
Selection for the post of Technician Gr.11l/ELS/RPM against 25% LDCE Quota 

from serving employees of ELS/RPM-2022 

Date:1 7.03.2022 
	

Duration of Exam :2 hours 

PLEASE READ ALL THE INSTRUCTIONS CAREFULLLY BEFORE MAKING ANY 
ENTRY IN THE ANSWER SHEET 

"Candidates should write their name, designation, office, roll 
number/staff number, etc., ONLY in the space provided and not 
anywhere else in the answer books or additional sheets." 

If any answer book is found with name(s) I roll number(s) other than 
the space provided, the answer book will not be evaluated and the 
candidature will be disqualified. 

There will be 110 questions including 10 questions on Official 
Language. However, candidates should answer only 100 questions. If 
more than 100 questions are answered, only the first 100 answers will 
be evaluated. 

Answering of questions on Official Language is NOT COMPULSORY. 

There will be negative marking for incorrect answers @1/3 mark 
for a wrong answer. 

The answers to be written only as NB/OlD (ONLY IN CAPITAL 
LETTERS as given in the question paper) and not in lower case. If 
written in lower case, the answer will not be evaluated. 

In the answers, Corrections of any typelike (i) cutting (ii) overwriting (iii) 
Erasing (iv) scoring off (v) modifying the answer (vi) writing the answer 
in text form, etcis NOT PERMITTED.Zero marks will be given for 
such answers. 

Candidates are not allowed to keep mobile phones/Electronic gadgets 
or any other documents/papers in the examination hail. 

Candidates may take the Question paper with them after the exam is 
over. 

It may be noted that in the event of any doubt/discrepancy, the most 
apt option and the English version will prevail 

The candidates appearing for the exam are requested to clarify their 
doubts about any questions/option, at the beginning of /during the 
examination, so that the same may be then itself 
clarified/corrected/substituted, for the benefit of all. 



Question QUESTIONS 
sl,No. 

TG)JIfJGö WAP-7 &&&OT CHBA 	6T6Y® 6)iWiJ5) 6T? 
A)! 10 VAC B) 415 V AC 3-CUth0 C) 415 V AC 	I6D &LLLD D) CWC60 
@6065)GO 

1IId 	*I WAP-7 ccb'ld-ltc4 Zff CHBA 	o11. 3tIY 	? 

tT) 110 c1 	)4153tRuI)415 dic' 	j Lt cfç 

Which of the following is CHBA input supply of WAP-7 locomotive? 

A)110 VAC B) 415 V AC 3-phase C) 415 V AC single phase D) None of the above 

2 WAP-7 6)J@CJ L4 ffl&aoflGb C6)J6) Q8JUth 	6T6)J(ffLb 6TIJ CUff? 

-1ç1 *t1rWAP-74uff 	kCi 	? 
Which of the following bogie working in WAP-7 class locomotive? 

A) BO-BO 	B) B-B C) CO-CO D) None of the above 

46ño&rftg rrn 	 iiib 	rj 	Qffu&oo 

(pE6b Qiu 	Ci6Lh? 

A) 	 6TTA_Q6o Qurur 	B) OHE 	(ff 6)Jpw Qrr&1 

C) 6JCJLh D) CWCGO 6T9d61jLh 	öo 

1I5 	CIc1 	 - d 	 UTf~11 	Tfiir# q,a-•1 

jtc-(I 

Which of the following activity to do first for providing of discharge rod? 

A) clamp fitting to rail B) hook providing to OHE C) Any D) None of above 

4 L6T U61O11L411ULb qU 	i01W6HJ L6bTUFLD 	ffUJUF1J 
ômiib 	Q&uiu 	Qutüui 6)1®LDL41? 

A) (!Pff 	LAJLLJ B)Wff86 	oTE,&61Lh 
C) WF1[L16i) 	1Q6ILh D) 4rJLh 

dIa) 9j-01 	 dI j 

crr21fr 	fZIT TRIT t) 31N 	 ) UT~ff qT C4 1Il! 	t) 

Which of the following activity first prefer to do while electrocuted an employee working 

with you? 



M1 

A) First aid given 	B) switch off supply 	C) press on chest 	D) any 

5 WAP-7 @66T&óiTM 	6TTffs CG)J6)6) QfftiJub 	iith 
CWFrL..LIrFJ 6TJ? 

A) 3-U6?O 	ffU 	1rF11L11 	T6TL 	B) 3-LL q6nfl6b 566döT(3 

DTL6 C) DC- Q1FLJJ D) GL.DGGO GTLD ffldbmw 

* # lt sii'( Eft *ZT WAP-7 A ctIc1 t TM 	* wr4 ci,'i,cfl 	? 
) 3...t1ur Q I a t Zi 41W ) 3-IRW PIQfl 11'II 	UT 

ft) 	-T) 

Which of the following type motor working as TMs of WAP-7 locomotive? 

A) 3-phase woundrotor induction B) 3-phase squirrel cage Induction 

C) DC- series D) None of above 

6 WAP-7 	ffr16116t L6T6J(ff,W 6F 	L616TffF1IJ iThrá 

A) U6ö)1J QUFr(!5ÜULL RB B) 6)Jpu8Lnrr6oT RB C) 	6)JFrá&Li) 
D)UGT1IFiJ 

WAP-7 	 d-o11 	fb ci 	 1TTT? 

41 3ft) 4) M 	%c1 	) LQJ 

Which of the following electric brake provided in the WAP-7 loco? 

A) Roof mounted RB 	B) conventional RB 	C) Regenerative D) Plugging 

rbuJ 	6i)6JUi16\) 6J#1 	6)6)J 0 	 6)J316i) 
69áQ&1r61T61TUULLj? 
A) Lj1L.44 TU11616U B) VQW06iffidT raiway C) IR 	6) 

JffUULLJ D) SNCF 

ii'cfli 	t -ci11ci 	fk;u# 3i'4aiji 1rZT? 

tr 	rrk)aiaW4 	aft) 3143Tccii'&i Tcb fiti  C1 

AC traction adopted in Indian Railway from which of following? 

A) British railway B) American raiway C) Developed by IR D) SNCF 

8 BG/AC UUJEOGiT Goff 	rr6i1D(,  L166T6)J(gJLD 6rT rffiu(13 6TI 
QUffLD1F6&J? 

_____ J-1d 	 ft/f3 	Vic1 	? 



Which of the following number code is suitable for BG/AC passenger loco? 

A) WCP 	B) YAP 	C) WAP D) WC-AP 

Qrjy 	Ciub 6T T C 	Lirth 	GUGTT6T? 

J 	iic 	? 
How many divisions are comprises in Southern railway? 

A)3 B)4C)5D)6 

10 1 apjL61 LOQffLJq 	66)UJ 66)J6)J6T16 	 LL6 
Qrr6r® 0au6\) (yIqULb? 

A) 4 € LbL1UJU B) 1LhL1UJT C) 3 4LbLJIUJO D) 2 	thi1uij 

1 	*1lifl 	c5cfC'( *1cjo1I wtc ift jc,c1I 	? 

) 4 Q,  FA q 4 ift) I 'u-'-flij 	fr) 3 Iu-4leF( 	) 2 Q &-ch ei't 

How much current can carry a 1 square mm copper conductor? 

A)4 Amperes B) lAmpere C) 3 Amperes D) 2 Amperes 

11 6)JfDIffiGbCUff6UJ 	1GTT6)1@Lh ff,®6) 	6FJ? 
A)L-C-R LffLL4 B) Megger C) Voltmeter D) 	U-6T L&.L1 

qu 

Which of the following is current measuring instrument? 

A)L-C-R meter B) Megger C) Voltmeter D) Clip-on meter 

12 WAP-7 	if 	if616b Comm) QffEIJUILb 	iiih 6i 
CULL 	5,61 6rJ? 
A)Pb-lL16\)Lh B) Ni-cd C) 651UJLb D) CLDC61) 	rJ6)IIh 	G)66)GO 

WAP-7 	1-a1 	 iFs? 
V) 4tt-s 	) ft-tfl) ff7r) jcicI 

Which of the following type batteries working in WAP-7 loco? 

A)Pb-acid B) Ni-cd C) Lithium D) None of above 	 4 

13 WAP-7 C6)rrC8rr6)16N (:ULL L1Ui1Gl) 6T 	6ö)6ff Qff6\)61T 	6TTGrf6&? 

WAP-7 
How many cells are contains in a battery of WAP-7 loco? 

A) 	3 B)4 C)5 D)2 

14 66óT C6JFr6I3LLLL4 Q11LrbJ(LD Currj WAP-7 Crri 
6T4Ui16i) OHE iff 	6U U[5, C61J6ølTLflif? jU 

A) DJ á(:Grrrrth) B) (:ULL4I 'ON' C) PT PLLUIq D) CLDCGi) 6Tg]61ILb 
GO66)6) 

WAP-7 FIE047 5OHE 2A cti ZO WitfVHa1 211voflc'( Wir QMT? 

) 	 'T 	1i1) id Fft 
When the line voltmeter to starts read OHE voltage in the cab of WAP-7 loco? 



ME 

A) Di close 	B) Battery 'ON' C) PT rise D) None of above 

15 WAP-7 	6T OCR-78 	1COUiT Current 	16)LDLiLI 616 lOT? 

WAP-7 	OCR-78 ft 	current #tw TzrT 

What is the current setting of OCR-78 relay of WAP-7? 

A) 300 A B) 330 A C) 320 A D) 325 A 

16 CHBA U4I 	6GUU6') WAP-7 CFTC.51r 	J6)iGTT6 	5FT6OW 

6J66) QffLüULb? A) C6J6560 Q&LSJUJ 0 ujrrj B) 2 w1 Cth 
C) 4 L06CEbr)Th  D) 5 wCrjth 

Ici 	fTf*WAP-7 	Ic1ol TPTzr  

1ch1l)2Elt 	) 4 Elt 	) 5 Vt 

How long a WAP-7 loco can work when CHBA failed condition? 

A)Can not work B) 2 hours C) 4 hours D) 5 hours 

17 LöTG)JQLD 	6)JffJ61)GO 6TJ 	rClrnr6m 6)J4L4 & 

A)R-L-C B) R-D-C C) R-L D) CLDCGO 61I6uILh 	bu 

d 	T11a1 6 I -Ii ib( 	TOZ 	? 

Which of the following combination is the harmonic filter circuit? 

A)R-L-C B) R-D-C C) R-L D) None of above 

18 WAP-7 CorrCrrGGö 	mrrIJCLorr6 	G)J&LJI CO6UDLD1rO, 

C6orrCrr 6o)LJGOL 6)JIfl6) 6T6 	WL4J1r? 

-t1IThd 	T #q),A "16 Id-  iflct, ib( 	I1 	? 

When harmonic filter failed in WAP-7 loco the loco pilot prefers which of the following? 
A)Ask relief loco B) continue with 40 KMPH speed restriction 

C) continue with permitted speed D) None of above 

19 ® 	LJ46) 	ffLL&LAr 6F6)J6)JF11J 	)6TUUJ? 
A)8i6)LD Qo!om. QrrL4 B) &6)W Ugejph C) 6J Ca jM Lb A 

i6b6ui B D) 	LD61) 6FIIG)1L 

5S? 	ii i ft 

How do you connect voltmeter in a circuit? 
A)Series with load B) across the load C) Any A or B 	D) None of above 

20 L1168T6)J®Lb 6Trb_65 Th966 )Gff UGO LLLJ y6OLb 	16U6)L (434ULD? 

rTdI 	? 

Which of the following components can be measured with multi-meter? 

A) 	R-L-C 	B) R-L-V 	C) R-V-1 	D) L-C-V 



21 065T6)J(ffLD 	6)61GO atd Lfi6)W 	I6O60UJW1F6T? 

A)G'ñ.M60 6) 	B) 0ro11u4 ffirr@XjuIT&6iT C) 	LGOI C.5Mj D) 6LD&CIJrr 

) 
Which of the following instrument has most accuracy? 

A)Steel Rule B) Vernier calipers C) Feeler gauge D) Micro screw gauge 

22 L16T6)J(5th 	iGTfi6b 6FI Qüu66)6uJ MO 6D@ft5j? 
A) 	LDFF6&FFLLL4 B) 	)D[rff LffLL4 C) 	j4QDrr6foL-FTLL D) 

off  

ii-q1 	TlTjIcl,,(UI dI'IiiIoi oii'icii tq 1) 	oieflc' 	1) W *ZT Th) 	aili-~c 

l) VRWV 

Which of the following instrument measuring temperature? 
A) Monometer B) Hydro meter C) Thermostat 	D) Thermometer 

23 016T6)J(,Lh 	w 	LLflGb 6FI L1&6LLh 5j6b66IujLDrr6bT 
6)JFU6lDU 

-did 	 ila-flc 	'-I1 	'dc1cb 	1i?dI 	-INc1I 
Which of the following micrometer measures most accurate reading? 

A) [C = 0.01. mm B) LC= 0.1 mm C) LC = 0.001 mm D) LC= 0.5 mm 

24 FJ86r116óT 	6L1LL rr-06L4 6))61flff6)UJ a46yr6D@Lb LI16oT6)JQLD 

ff,®60thGltlGb 6T? 

A) 	LDff(:6oTrrL&L1 B) 	 LffLL4 C) Q 	iorrni.irL D) 
jOCLDraOLLL4 

-u1j 	 j4cU 	TrrtrT 	fIdi4cc1 	toii'iii 	? 

TI) 	ai'e4lc 	) 	il èflc 	ft) 	d4I- 	t) 	d1I41 
Which of the following instrument measuring specific gravity of fluids? 

A) Monometer B) Hydro meter C) Thermostat D) Thermometer 

25 J6b 6F 	d6D ffL GJ) 	66)6)J 	LDLILIki) 
®thqLb 	ffLL6 	QThFr6T(R 0ff6i)LDI? 

A)QFrL4LI 8LhL1 B) gfrjflDrr6obT® 8LhL1 C) IJLI16b D) iqrrniury &LbLjl  

1I1 	 d(f 	 e* 

*N 	T)IdI 	 TT 

Which of the following is carrying the return current in single phase AC traction system? 
A)Contact wire B) Centenary wire C) Rail 	D) Dropper wire 

26 WAP-7 (:6urrC&rr6M6& TFPUi16i) 6F6)6ffF 	J6ö)61 	ff81 



J(6iT 	6fr61r6ör? 

WAP-7 	ctl t TFP # f~raA uuzw 1Tc1IdI 3L1cT? 
How many auxiliary power windings available in WAP-7 loco's TFP? 

A)1 B)2 C)3 D)4 

27 WAP-7 	ÔT6ÔT 66yLDr1 QUiriL..6tir61UJ6o 141Jff 	:UrrIyLnI16) 

6öi 	iqL 	 6)LLh? 

WAP-7 	1cia 3iii'i 	t1 	fr 

How many output feeds getting from Primary Potential Transformer of WAP-7 

locomotive? 

A) 	2 B)3 C)4 D)1 

28 AC/3-U6fl) @&gI66fl6iJ BP 	 l6)WUq: 

347 
BP pressure setting in AC/3-phase locomotive: 

A) 3.5 kg/cm2 B) 4.65 kg/cm2 C) 6 kg/cm2 D) 5 kg/cm2 

29 WAP-7 	ff6)16) 6F ja 6D6& 	ULL486ir 6)UUL®61T6T161? 

WAP-7 etciufl 	zfrrft? 
How many batteries are provided in WAP-7 loco? 

A) 10 B) 20 C) 26 D) 27 

30 W-®6)JffW L1r8 UWU1LJ65f 	UFFI WAP-7 	Fr6)166T 
TM&1T 6rff 	WffWUU68TD6r? 
A) 3-8LL 	WffLPU6T1 B) DC QTLL6iT 
C) Lbl6tnarrOM156ft D) 	LD6) 6rJ6),IL 	i 

q;T: 	iaiSci #W iiaiiol t 4luai WAP-7 eilci,'l 

Tfl 3-tu 	 ft 	ft) 	qI'a 	ii) 	€II 

During re-generative brake application the TMs of WAP-7 loco converts to what? 

A) 3-phase Alternators B) DC generators 

C) Transformers D) None of the above 

31 1 65)LLJJ1FJGUU QUff(g)GTflfftir GFEtflL 500 &rjrrLb 6T6TU 
Q&rr6Tc6iJrrLb, 	üt11Lt.. 	üq 	r6ri 

9qrciIa1 500 JTJT, fZ11 9) 7Icc1 WQT? 

Assume 1 litre of fluid substance weight is 500 grams, what is the specific gravity? 

A) 1.0 B) 1.5 C) 0.5 D) 2.0 

32 LG)JgflGi) WAP-7 	G) 	T5,&UULL if ififJ 6LLLD 6T? 



WAP-7 	d-a1 	Tc)c1 sik 	1 	? 
Which of the following is the condemned wheel diameter in WAP-7? 

A) 1092 mm B) 1015 mm 	C) 1016 mm D) 1097mm 

33 ITW 	 U 	u®u(Rth &ff6j1ffi6ft@&6fl68T 

6T6LO5,61 L 	 6?5TG)JIJGi) 6T6611? 

A) 	6)6i) B)1D6) 	L1UL 

C) 	thU 	6iff6)W65)UJ CLULbU 	D] D) CwC) 	6T61T 	jtjLb 

JI1Ia1 	cUJ 	4cd 	 J-1d 

t) cd 	t)ftt ct 	ci'ia1)çii 	f1T1) icf(1 Traft 

Which of the following are the advantages of lubricants used in moving equipments? 

A) Cooling 	B) Energy saving C) Improves reliability D) all above 

34 6T6)J(LU 6T 	 Lj Q 	6b6D 5,L1 T6TU 

A) mg4Lb16d1ujLb B) 	IFLJLb. C) 06)J6TG1I1 D) LGTT1FLI16TLD 

-11i 	 cc 	tIajI 	T1? 

t.J)fA 1J-I 	) 	*,i4il 	) 1kct't 	1) Lçli~o1-i 

Which of the following element is known as the industrial conductor? 

A) Aluminum 	B) Copper. 	C) Silver D) Platinum 

35 WAP-7 	rrCrrG)i16g C8ITL66 4qdT 666T 46T(D&iT? 	 4 

A) 30 	6T®6U B) 35 	6T(386fT C) 36 	6T®6rT D) 25 46hTT&dT 

WAP-7 cct) 

t) 30 	t) 35 	iir ff1) 36 	lTf 	t) 25 	I 

How many years is the codal life of WAP-7 loco? 

A) 30 years 	B) 35 years 	C) 36 years D) 25 years. 

36 WAP-7 GcorTC&rr6B6& 	ithii sij 	iub 	QLLLT 
UUL®GiT6u6T? 

A)6O6T B) Q 	FL-1606UT C) Q[rLrj D) CLUCu 6TJG1L 	io 



NO 

WAP-7 	TM1r.i4kii 

T) '1J-iIa1Ic1' 	t) 	cII-'-IJ-Ila1ld'd. 	) 	cI g) 5Y tl ctd 	Frft 

WAP-7 loco's TMs are connected to inverter in which combination? 
A)parallel 	B) series-parallel 	C) series D) None of above 

37 L68T8fI1J1jGi) &ILhL&L4 6F6J6)JFF 	 EUI®6iT6TTI? 
A)6JIJ6)1F6öT QrrL4 B) &6ö)Lf3 	0)6ö&UJF18 C) 6J 	JLb D) 

LD6U 6r§qLb 	oou 

40 4ts VAL7 *1T? 

Iolcl'( 

How does connected ammeter in a circuit? 

A)Series to load B) Parallel with load C) Any D) None of above 

38 H.H CU1r6OL&,6TT 	GIJD( 	öTG)J(ffLO 536DffiOdo 6T 	LQjLD 

QUwrr6TJ? 

A) DE 	CUTII B) 	U6óT 6)6ff C) 	[J thLJ6TII D) QUL[q GnJCU6TIJ 

-u4d 	T1cbUt H.H 	io1 	 5cF7 

'-o1'( 

Which of the following tool is most suitable for tighten H.H Bolts? 
A) DE spanner B) Allen key 	C) Ring spanner D) Box spanner 

39 WAP-7 GwrrCffirrGffl6& TFP Q 	L4U6i) 	IÜUÜLJCL 	6906T[1J 6Tj? 

A) W5(, 6T6oT06oTL1J B) 	UULL 5,rR1LÜULL aaflm 6T6dwQ6mLLj 

C) 6TQUFr®6U 6T6TQ6TL1J D) CUCGU 	TGU 

-11c1 	tTlTWWAP-7 	TFP 	T7 

caclC. 	31ii 	1 

3)c-ç Trat 

Which of the following oil filled in the TFP tank of WAP-7 loco? 

A) Lubricant oil 	B) Inhibited insulated mineral oil 
C) Fuel oil 	D) All above 

40 G)J6tffG)JXfJGi) L6&LU[[DL5) 6T6MQ6TUi16T BDV 6TJ? 

J-11l1çi * 	k14'IJ 	 ? 

Which of the following is the BDV of transformer oil? 

A) 25 KV 	B) 40 KV C) 50 KV D) 60 KV 

4' G)J!jflJ6i) 6T~tj 6j#1 if LJ6fl6U6?5)UJ 	&Lnuir 	wrrn 
LLJ 

_____ A) LF(:& 	B) L168To)L C) 6LCUJrr® D) Ca:rT& &th 



Ie-i1d 	T3fiL4i 	 J 

V 	 ) 	~11) siL 
Which of the following can convert AC supply into DC supply? 

A) capacitor 	B) resistor 	C) diode 	D) choke coil 

42 L6)J6b WAP-7 UffCL 	i&G1116T Q[rLLI 
QLb 6TJ? 

-0Thii# # WAP-7 	dIq,r 1L, CIcJ 

Which of following is the contact pressure of WAP-7 pantographs? 

A)7kg B)5kgC)10kgD)6kg 

43 M-18 X 50 mm 11.11 	Uff ( 	016bT6)J®Lb 	l6TT6)4 6fl)U6bT 	6rI 
QUffwrr6lffJ? 

11ci 	tIT3lIcIiI'( 	Tt-'lit M-18 X 50 1efl H.H cicc 	 ? 

Which of the following size spanner is suitable for M-18 X 50 mm H.H bolt? 

A) 10 B) 12 C) 18 D) None of above 

44 JJGi) U 	 1rñ6T (,mCQGJL® 
Off 	6TJ? 

-o1iid 	 d)I ch ZFT 	 IL4c1 	'? 

Which of the following is the Transverse flexibility of Pantograph? 

A)36+/_Smm B)35+/_5mmC)37+/_Smm D)34-i-/_5mm 

45 WAP-7 C60ff 	1rG)i16iT TFPUGi) 6 	6?5)6iT 	1J661flLffW 96GO 	)Q6)6)J 

,61T 	rf6rT6T? 

WAP-7 (*') 	TFP # 	Wr1IJl 	c? 
How many secondary traction windings are available in TFP of WAP-7 loco? 

A) 	2 B)3C)4 D)6 

46 L6)J1ffi6i) WAP-7 C 	rrGö C6Jo QffL(Jub 
Cth/ç6 	 U@Lb (J6)1T 6T]? 

A)VV 8®LILJrF® B) Rheostic 8L®UUFF(3 C) 	1JIQ6)J61iT 8L@[ UIr 	D) 

VVVF 8L®ULJ1r® 

WAP-7 c) 	 fft jif~/a 1 	 d-ol 

tT) ttP4510 1 	) 	 )31ldj 	1;01 	) 
Which of the following is the speed/torque controlling method working in WAP-7 loco? 

A)VV control B) Rheostic control C) Frequency control D) VVVF control 

47 6J 	@6&a68T&06& 	L6T6?flUJ 	KLD Cun, iith 
Q6&GT 

QJUJÜLJL C6116oT®Lb? 

A)OHE & LüU®jLb 	LDUU® 	1!D5 	IDJD1rJL0 	J5ÜULL 
CuL gL@ B) 46ñoa:rftg rjrrL 	uL(3thiTj C) HOM 

____ UJ&,5AU®Lb 1o)6\) D) CwCco 	thii 	&ocith 



MR 

c1 	 d 	 TfT 

ii 	cIJ1L? 

1) 3i'li,4 	ii1 	3it'Ic. 	 ',1C,jcj 1J 	TZ1) I-t1i 	Iaj 

4I TrzrT t) vv3ftv;Fr .1T41Id 

When access to the roof of AC locomotives which of following precautions to be ensured? 

A)OHE controlling isolator open & provided pad lock 	B) Discharge rod provided C) HOM 
operated condition D) All above 

48 QrrbjLu 	 Q 	irj QQLrj 

6T 	6T6TE, (511® 

A)JIiILI B) L08:6T C) 	n& D) Q u 

TT7 

)oI'.d1)1cbC 

Which colour code being followed for industrial helmets of technicians? 

A)Red B) Yellow C) Orange D) White 

49 1016) TL/AC á16rnL 	1rr6oT WAP-7 	6Fr8ff :OLILqJFIJ U6)46) 

61J6i) 6rgJ? 

A)BUR-1 B) BUR-2 C) 	AD1rL.L6b &6DW 	J6( 	D) BUR-3 

/ftcoi 	VWAP-7 ci) 	1dI qW 4 M â-1IId 	EftT? 

Which of the following in WAP-7 loco feeding power for TL/AC system in train? 

A) 	BUR-1 B) BUR-2 C) Hotel load winding D) BUR-3 

50 WAP-7 CamC&rT6fl6b SA-9 UUJ66TU@Aff 	BC 
6FGJ6)J6TT61I 	 UkDI? 

WAP-7 	ict'I 	SA-9 	dI)  W BC 	coi 1417 '1dI 
When SA-9 applied in WAP-7 loco, the BC gauge reads how much pressure? 

A) 	1. 8 Kg/sq.cm  B) 5.1 Kg/sq.cm  C) 3.5 Kg/sq.cm 	D) 2.5 Kg/sq.cm  

51 WAP-7 @66T 06dUb 6F6ö)60T 6FLD61T 	 UUL6iT6TT6N? 

WAP-7 e411c1 ,çioI 	RTTV? 
How many MRs provided in WAP-7 locomotive? 

A) 2 B)4 C)5 D)3 

52 'A' CUOT06b 	6T61T WAP-7 @6iJ S1T6TT UBA LLLFJ L16bT6)J(5LD 6F5 

1U66)6OT6DUJCI U(Lb? 

A)BL- 6)i16)ff 'D' 	Gi) B) BL- 'C' @6iJ 6)il6lDff C) A & B D) 	J6öTLh 

LD6\) 	6i)6)6O 

ajc.j * WAP-7 * UBA *ZT Id-u1II1 	 fL4tM? 

_____ V) 	vl- ' 	1) 6fl',cl- '' *ft 	 1) jci-d 



UBA meter in WAP-7 in 'A' panel will read which of the following condition? 

A)BL- key in 'D' B) BL- key in 'C' C) Both A & B D) None of above 

53 WAP-7 @68T&AG6 TE/BE LÔ"LLIr 6T1hJC8I 	GTTGflJ? 

WAP-7 	*,o1ftc 	TE/BE *ZT WFT  fTT #7 

Where the TE/BE meter located in WAP-7 locomotive? 
A) 	Panel 'A' B) Panel 'B' 	C) Panel 'C' D) Panel 'D' 

54 WAP-7 	if 	1r6I16óT BL- &6i1L16) 6r,6o)6bT 	6'O86T1 	GiWf16or? 

BL- WAP-7 F)Zft  T1c1c1 	lcil 	i1eI? 

How many positions available in BL- switch of WAP-7 loco? 

A) 	2 B)3 C)4D)5 

55 WAP-7 uuJ68ffurrL46ür 	U6oT6b 'A' 	6i) Qif8UUL..®6ir61r 
0616iJ®Lb &1L&rt16i) 6rI I urrjurj 	 QU5(R6)JJ? 

-1Id *rr 	WAP-7 113 ft 4i TrTcivi 'TE'/L1IoI 

'iIa1 

Which of the following switch provided in panel 'A' of WAP-7 application /releasing of 
parking brake? 

A) 	BPCS B) BPVR C) BPPB D) None of above 

56 LI16T61J3Lb 6T 	6) WAP-7 	GOFrF6ö)6)J 	6JT 	6bj 
UrrJthrr8l1JJ? 

-ii 	trrWAP-7 	 Ic1I 	? 
Which of the following relay protects the WAP-7 loco from over current? 

A) OCR-87 B) OCR- 78 C) MVR-86 D) None of above 

57 WAP-7 	if 	FT6)16i) TM-i, 2 & 3 56 LJ166T611(ff)6)J6bT6)JfbO16iL) 6FJ 
6JG1flfE.DJ? 

#4UWAP-7 cl 	* TM-i, 2 3It3 	 T? 

Which of the following is feeding to TM-i, 2 & 3 in WAP-7 loco? 	 .4 

A) 	BUR-i B) BUR-2 C) SR-i D) SR-2 

58 WAP-7 	if8if6)166 UFr1ffE1BJ L1J8 	JIIUL6iT6TT 
L168T61J(!)L 	66iffigrrFM06b 6T? 

WAP-7 	 iIi 	* 	tr1T 'i1ii L1I,dI #W  Siiai 	"cit 
Which of the following wheels provided with parking brake in WAP-7 loco? 

A) Wheel No. 2,6,7 & 11 B) Wheel No. 1,4,5 & 8 C) Wheel No.2 & 4 D) 
None of above 

59 WAP-7 	GOifif LqGrth 1116flUJ6ot16O 6TA,56MM U0861 	6irGn6r? 

WAP-7 	TM ,dl &iF ? 

How many teethes available in the pinion of WAP-7 loco TM? 



A) 	23 B) 21 C) 20 D) 16 

60 ifrffi 	WAP-7 C€o 	ffG))6i) @&Mej W 61T 

@fl (5 ILL L_ 60 6T? 

tWAP-7 	* tERPT a 	 7 

Which of the following is the cooling of traction converters in WAP-7 loco? 
A) ON-AN 	B) OF-AN 	C) AN 	D) OF-AF 

61 6)ii) WAP-7 GGorrC&rrGD6&r 	Q661J CWLLffJ56T 

d-1Id TU WAP-7 e 	1TJR 	 '? 

Which of the following is the cooling of traction motors of WAP-7 loco? 

A) ON-AN B) AF C) AN D) OF-AF 

62 WAP-7 Crrarr65)) CGjo QfftiJuth L)6TG)J(ffth 6)J6)8 TM61 6TJ? 

WAP-7c iTM1 ? 

Which of the following type TMs working in WAP-7 loco? 

A) 6FXA7059 B) TAO-659 C) 6FRA6068 D) HS-15250 A 

63 WAP-7 CGorrC&rra& TM 	6T Q 	LIJ&UJrF61 &M1JLDO  LDELJJ 

6T6)J6)J6ITGN HP 	L0? WAP-7 	TM zft ICf( qTdI  Ida 	HP 	7 

How much HP is the continuous power rating of TM of WAP-7 loco? 

A) 1156 HP B) 1563HP C) 1000 HP D) None of above 

64 WAP-7 	ff8Fr616b U-ffFJ 	 (LUU®LD 
uba 	Tu111Gt) 6F? 

WAP-7 	-ii1'i 	a-.ciC 	Mazomfba *lIVd)? 

Which of the following condition the pre-charging contactors will close in WAP-7 loco? 

A)CE on B) Di closed C) PT raised D) Reversers throw F 

65 WAP-7 CwrrCarra6b TM 	rrrU Quuji, 
6)J6i) 6F1 TE Uff,UL 	UJ J? 

WAP-7 	TM 1IQ 	 -'11c1 *tTTE t3ft 	1lic1 iftm 

Which of the following operate to TE side for TM taking power in WAP-7 loco? 

A) 	BL B) Throttle C) ZTEL D) None of the above 

66 LG)JG) L6)6T&!DO5kÔT 	®UUffL 	UF6bTLD 6FgJ? 
A)MCB B) 	01 C) &GOILAF D) 	 L&.L4 

-31117 *tT Ic' ci OkElIZI Wr Iiiui jui 

) 	rft) w 	ft) 1 	cveflc 



Which of the following is control device of electrical circuit? 

A)MCB B) Fuse C) Switch D) Voltmeter 

67 ®6)JIDIffi6i) LOT&Dflj6T  urrj8rr6q ifF6bTL 	6FJ? 
A)MCB B) 	C) &G)1L 	D) A & B 

d-v1IldZhU f4 4kjCj 9fl q 21Taiiceic*, 37WM 

t3ttt 
Which of the following is a protective device of electrical circuit? 

A)MCB B) Fuse C) Switch D) A & B 

68 WAP-7 CwrrCarrGM& 'iR 	wüikb (y3EuJ uJarrLiq 

6)JFr6)6)16T a4 	,Au 	m6o)LDüq 6F6J6116ff64? 

WAP-7 	eulct'l 	MR1- 	 c1jccI 	 'c1a1l 	tff? 

How much is the pressure setting of main safety valve in MR system of WAP-7 
loco? 

A) 9.5 Kg! sq.cm  B) 10.5 Kg! sq.cm  C) 11.5 Kg! sq.cm  D) None of the above 
69 WAP-7 	6T6ofl6i) (o) 	ULff 	 VCB/DJ 

WAP-7 AAAftcl *.-elalclJl 	 ? 
Minimum pressure requires closing VCB/DJ in WAP-7 locomotive? 

A) 4,6 Kg! sq.cm  B) 5.5 Kg! sq.cm  C) 4.0 Kg! sq.cm  D) None of above 
70 WAP-7 CwrrCarradj ff,F15-70 	WüU®üUib Currj 

L16ÔT6IJQLh 6F 	 urr 	rrj? 

WAP-7 	 Tci 
Which of the following pressure is not charging when cock-70 isolated in WAP-7 loco? 

A) 	BC B) FP C) BP D) VEPT 	
A 

 

71 I6TL1rIh 	6)6O 	LÔT 	 6JLJ1r® 	WAP-7 	)6ÔT 
CUif(L6T QLIILLU Mw 	 J61T C)1fC&1r 	L6) 

u5)irrLLrr86NLi Q 	 rr86-iJLD 	 w1çij. 
-------------- c4c-TF cilct) 	Tt Zft WAP-7 	 Tt 

1ll 
The "------" arrangement of the secondary suspension allows the loco body to move both 
laterally and vertically within certain limits relative to the bogies of WAP-7. 

A) 	Flexi coil B) Flexi Float C) Tn-mounted D) None of the above 
72 WAP-7 	C5T6) 	CuFTU.)Gi) 	bJ 	 if 	IGo)UJ 
_____ W1r!DLh 	U6)I) 6T? 



A)Pivot B) Oa5dwnm LUJ111JLb Q1brrl1i. &([561 	gGT C) @QP61M611 

uL&oi 	D) CLDCGO 6TSdqLb @660)6u 
jyu WAP-7 

FA Ic1ic1fld q'(c1i 
Which of the following equipment transfer tractive force from bogie to body in WAP-7 
loco? 

A)Pivot B) Primary & sec coil springs C) Traction bar D) None of above 

73 WAP-7ffC5,1T6)Gi) A-9 	U156UJ Q6-11011L® 	ouö 
6)6)JW Gurrtj BP 96b 6T6JG)J61T6 	âIQW &[[ 	W? 

WAP-7 	A-9Tthci 	W[SICI -1J 	BPido-fl 	RtII1di? 

How much pressure charging in BP while placing A-9 handle in release position in WAP-7 
loco? 

A) 5 Kg/sq.cm  B) 5.4 Kg/sq.cm  C) 3 Kg/sq.cm  D) 0 Kg/sq.cm  

74 
WAP-7 @66Ta666b CT&T 	 L861T 	6fT61T6T? 

WAP-7 itl 4I~A 	dc1 tEF ftlcs 	(77 

How many brake cylinders available in a WAP-7 locomotive? 

A) 8 	B) 6 C) 12 D) None of the above 

75 66ii WFF1,1U16T ait 	U.(T6n6)JUi66T 	urrI WAP-7 

ff&Fr616b AC 	j6n 	L6 	DC 6)UJF8LOFF8 

bRnT cI,a-c1 	 euwr WAP-7 (i1 	*T!ft1dJI 	Ift 

NIff 	cIç1I? 

Which portion of traction converter converts AC single phase into DC supply in WAP-7 
loco during traction? 

A) 	DC Link B) NSR C) ASR D) None of above 

76 TFbJ Q&tiiuih CUITOJ WAP-7 CamCairra6b 	6)6)J 

WffUi16T 6FbU U 	AC6DUJ DC 5Ii61rUJFrU, WFr$1 DI? 

TcIjii WAP-7 ci1ct 	 c*,o-c1 

cI(C1I 
Which portion of traction converter converts AC into DC supply in WAP-7 loco during 

braking? 

A) DC Link B) NSR C) ASR D) None of above 

77 WAP-7 if a rr6)66T SR 	i Q 	fluLLqb 	JJn 
Wr1gJUFr®8GiT fffftUWff(Lb? 

WAP-7 Qil1) 	31F3i1,c1efl 	I'I'(dI lil.-oicii 	3Tj? 



How much frequency variations possible in the output of SR of WAP-7 loco? 

A) 65-132 HZ B) 50 -59 HZ C) 50 HZ D) None of the above 

78 WAP-7 	6offF16)i16o BP Cat 6flFiJ(116T1J? 

A)Panel 'A' J6T 	cff.(h B) Panel 'B' @U66W 	 gl-b 

C) CU6OTGi) 'C' @rj6dbT@ 	TILh D) Panel 'A 	J6dT' 	T L 

WAP-7 Ql'1ct * BP 	5rWF fTT 	1T ? 
Where the BP gauge located in WAP-7 loco? 

A) Panel 'A' both cabs B) Panel 'B' both cabs 

C) Panel 'C' both cabs D) Panel 'A' both cabs 

79 Uffff1r116 	ff11UqU UL)L(áLJ UW1UUULh 
Qurr(!56n 6FJ? 

A)rrlru6T B) 	1rLrth C) 5D c 	UCJLJLL 	rrlu6T 0) 6T? 

dIq 	E 	 f 	i11i * * 	tr 	ft *IIeI41 WT 	ii fkM 

1T1T? 

t) cbo- 	) cL 	1r) 	1Ic1cbc1 4)Ifrj 	) 	-c'1 

Which of the following material used for pantograph collection strips? 

A)Carbon B) Copper C) Metalized carbon D) Steel 

80 06iT6)J®W 6F 	6)JFF6O6 	WAP-7 	ffrr616b BP 
arlrft QffLüJj? 

A)C3W 	Currthi B) C2W OCGO curGbQ C) E-70 6J1r66uI D) 
:L 6)J16D61 

vl çl *# EFUicii 	WAP-7 	 fldI 	? 
A)C3W 	c1'(c1, B) C2W ¶ 	ie' C) E-70 WFW D) Xftg WFW  

Which of the following valve charging BP pressure in WAP-7 loco? 

A)C3W Distributor B) C2W Relay valve C) [-70 valve D) Feed valve 

81 06i) 6FRA 6068 TM @6& QffLUJff6T 
Uff6b)LLJ LDLJL5(R  6TI? 

-i1ci **tf 6FRA 6068 TM* Mtcli Tft ? 
Which of the following is the Continuous current rating of 6FRA 6068 TM? 

A) 270 A B) 370 A C) 410 A D) None of the above 
82 6 JLDGb WAP-7 	 ÔT 06 J61U® 

'ay.QW 6T? 

WAP-7*V1 	 r311i 	1èi 1e-ai 

Which of the following is the output voltage of Auxiliary converters in WAP-7? 



(0 

A) 415 V+/- 5% B) 415 V+/- 10% C) 2280 V D) None of the above 
83 6FRA 6068 TM fUCLLL06\) 	6)6T 	J(ffQJF J86T 	611Gfl6T? 

6FRA 6068 TM '-è 	Ic1a t 	3I.46 	7 

How many poles available in 6FRA 6068 TM stator? 

A) 	4 B) 2 C)6 D) 8 

84 LC-1/100 	Q8FF6TL 6)LDffCFJIrLLLEJrr6ö &16TT6)LUULL 	6T@ 
G)i)LLLb 6T6STJ 	J5Q5,1r6iTC6)irrLb, 	(1LI3f 	U61LD, MSR = 
100 L&Lff LOWç1JLD VSR=55, 	6öTIf6T 6)1LLLD 6TT6T? 

Lc-1/I00 11J-i1 	T 	 zcmTrm7mT c4iJ 

Ya1I, vPvF3T7 = 100 1J-11 AT ci) L131T{ = 55, T1t1 	T cmi 

Assume a shaft diameter measured by a micrometer with LC-1/100 mm, reading as 
follows, MSR = 100 mm and VSR=55, what is the diameter of the shaft? 

A) 105.5 mm B) 155 mm C) 100.55 mm D) 99.955 mm 

85 3-CU6r\) 	 5,611166 GI 	6)J6fl8 QpL 66OL 

A)TL6L 816D B) 	ö'D 	)6p @Lh C) LED D) CwCo 6Tth 

3-f1a-I'1 # l 	1c1,i, tl 	CIc1 	t'1ic4 	? 

T) cJc-i 	W) 1ii firt) 	 6L4c1d 

Which type head light provided in 3-phase locos? 

A)Twin beam B) Single filament doom C) LED D) None of the above 

86 
0610L MWL46& 0UFiff11tJ 	YrLb 	J6J6TT61? 	 1dI 

(I 	,cicr1'1 ert? 
How much is the focusing length of Head light? 

A) 250 M B) 305 M C) 350 M D) None of the above 

87 L1 6J!1(ffi6i) QR1DL m6uL U1i6o)GTr 6F? 

J-1IId *#Zft ftQIIc '1'vlI 	? 
Which of the following is the head light supply? 

A) 110 V DC B) 110 V AC C) 24 V DC D) 32 V AC 
88 WAP-7 	r60t16i) MCB-112 6rnJ(%6i16TrJ? 

WAP-7 	 MCB-112Wr 1rr? 

Where the MCB-112 located in WAP-7 locomotive? 

A) 	BA box-2 B) SB-2 C) HB-2 D) SB-i 

89 WAP-7 C6urTC&rr6M6b UUJUüU®Lh 	T6Jth 6)J6 	6)UJ 

60)61MW ff(!56)i 6rg1? 
______ A)DCP B) U146)Jth C) &r1rU6r 6ö)L 	86D6:® D) 	L 



WAP-7 	c91 A fJ 	 T3f[iio1ct,  WEN dl WM aTcIT 

) 	1*flfl 	) tYfl) wrAw 	'cltflS 	) mft 
Which of the following type fire extinguisher used in WAP-7 loco? 

A)DCP B) Form C) Carbon dioxide D) Water 

90 WAP-7 C6urrC&rr6M6& FDU 	6F6ØT Gñ)LDFr 	QLLGiT 

ir 6TT6T? 

WAP-7 RYE0 47 FDU,daI '(-91c1, 	i(itT? 

How many smoke detectors available in FDU of WAP-7 loco? 

A) 	1 B)2 C)3 D)4 

91 16öTLO 6F6UFJ Q Lifüu(R ? 

When Hindi day being celebrated? 

A) April 14 	B) Aug. 14 	C) Nov. 14 D) Sept.14 

OR 

i5 	ODE &(5 04SdwmüuLi 	QQJT 

wrrgJuif® 6T]? 

-c1Id 	tTOHE *iV3icid1c1 wq w f1idi 	? 
Which of the following is the frequency variation allowed for OHE? 
A)10% B)5% C)6% D)3% 

92 G)JG) ftRuj 	WJl6$T UE56&6unmurrm 

irij6,ry6i QWif1 GFgI? 

A) &rif6ñ) 	 jTh&,GTflGb ftR B) 	irr1 6 art1b 

C) LThJifLó 	6r(16b 	D) Ur1lJ 	6r(16) 

M 	4ft&ft(cfll HV UT? 

pCl  

Which of the following is the primary Official Language of Indian Union? 

A) Hindi in kharosthi script B) Hindi in Devanagari script 

C) Hindi in Brahmic scritpt 	D) Hindi in Persian script 

OR 

WAP-7 	ffif6)166T L161ffWffrD0 	 oi 	rQnii 

UthL46iT 	6116ö)6) 064166Tç0T? 

WAP-7 	 j.jqje 	r!j 	Wq ? 

How many oil pumps working for transformer of WAP-7 loco? 

A)One B)2 C)3 D)4 

93 @rbRui 	11UJ Gum WL6& 6TLL.Jr6)JJ 	JL 	6)6NLI1i6i) 6F61)61T 
_____ QwrrGiT 	üUL(6iT6T16OT 



of 

1I'(çflq #ftuw*3iIôci1 	i11fl 	1ciafl iiiiiv QHfAW 	? 

How many Languages are included in the eighth schedule of Indian constitution? 

A) 20 	B) 25 	C) 22 	D) 21 

OR 

®6J lb rffio (p68TgJ 	LL 	r6ölffLGO 	wifl& 
LjejO LDJDgIILh 6T6)L 60lLb 6FJ? 

f~i d 	 5toi 31'IId z9v QTF*"ff? 
Which of the following is the power to weight ratio of three phase induction motors? 

A)Low B) 0.3 C) 0.55 D) 1 

94 J5lW 6UTflj1UJ168T ff6) aiNairigr6goo Qwrr1uirr 
&rbjuth 6iUurrJ jOuLL 

34fl 	ii'd 71 #V t1ccl 	 * ZFW 	17ri TZ1T? 
When English implemented as additional official language of Indian union? 

A) 26.1.1950 	B) 26.1.1965 	C) 14.9.1949 	D) 10.5.1963 

OR 

WAP-7 	6\)ff 	ff6)161 TM 	18UL8LDFr& 6r61J6)J6TTG)4 

6Li uw&uftu 
WAP-7 	t TM tg 3rIrJT 1ia1I atvtol çaiii 	1T 'Ilq'clI 
How much voltage can be applied maximum to TM of WAP-7 loco? 

A)1200 V B) 2280V C) 415 V D) None of the above 

95 OLIC 066migLarrp 	6)J6)LUJ6O1TLb: 

OL1c'Ti-ciI'( e'1ct,ç1I 	: 

OLIC may expand as: 

Official Languages in Indian Constitution. 

Official Language Institution Committee. 

Official Language Implementation Committee. 

Official Language Implementation Commission. 

OR 

MCP-1 & 2 	LI166T6)J®L13 BUR(6)6RJT WFrflj) 	!L6JI 6rJ? 

(YUZW 	32 T? 
Which of the following BUR (Auxiliary converter) feeding to MCP-1 & 2? 

All B) 2 C) 3 D) None of the above 

96 Qwb6 @jrbj& WrrkoLh 6F 	uUi1Gb 	46)WjGiT6TT? 

A) 'A' 11-11(1 B) 'B' U( 	C) 'C' U( 	D) CILDC610 6r]6),ILh &iju 

IIcUaw 	 # # fr 

tT) 't 	tht) ' 	 1t)
' 	

.5L'cç1 

Which the following region West Bengal state is situated? 

A) 'A' region B) 'B' region C) 'C' region D) None of above 

OR 

_____ J50 WAP-7 C60ff 	fl6ST 	 Lth 



CLDffLLIIth 6T]? 

d-ic1 	WAP-7 	 1TJ-k 	? 

Which of the following is cooling Traction Motors of WAP-7 loco? 

A)OCB-1&2 B) MRB-1&2 C) TMB-1&2 D) RT-1&2 

97 06)JLbL56b 6FLbJ 	ffJ6)4 	60)1DUJFF6O 
LLJ U 

A)TUFF 	B) 01J616T C) LThJ8UJff D) QDC60 	S!T61T c46)6bTJW 

d- j1cj qftw117r4c1I.0 3IJII zft 7r Tift 	? 

It)Sc(lUI 	 jc11 UM 
Which of the following examinations being conducted by Hindi department? 

A Prabodh 	B) Praveen 	C) Pragya 	D) All above 	 10 
OR 

WAP-7 	6\)Fr8ff616b 	ff 	WF16$t1á :OL16bL4 Q!J&fVL 
6rFbi6iT6TrI? 

WAP-7 	ci,) 	 1wc 	1k- 	¶TT 	rr 	? 

Where the harmonic filter resistor located in WAP-7 loco? 

A)MC-1 B) MC-2 C) TFP D) Roof 

98 LOTG)J(ff,LO case 8060 6T 	(bPL3QW 	G)J160 05&& C6 J6 T(kb? 
A) 	IJ6)J6Off, 	 B) 	J6J6O& C51rcJLI 	EL.JffGrr C) Quirj 

6)JrFFJ1UJLU D) uith G®L 

-'1id 	 Td-flJI 	 Ttll? 

t) 	3Tf) c4i4 	1 	 fIr) y1ct 

Which of the following case should be in Tn-lingual form? 

A) Office Orders 	B) Office file headings 

C) Public board 	D) Leave form 

OR 

WAP-7 	ffthF66bT 	iJir-i WWHL )  2 LDIU 	154 
6)U6i) 	Th8LJUL®6Tr6Y1I 

WAP-7 	 ft-i 3h 2 	 fiv ftaV Eft --- 11 	;BE 4 

1rT 

154 Switch kept in -----position to isolate bogie-1 and 2 of WAP-7 loco 

A) 	I 	B) II 	C) 1+11 	D) NORM 

99 6)J6bT6)J1fJ6i)  @gQLarroloiLqGULh 6F? 
A) a4Vj6IJ6U5i UAR60U B) 	J6)J61) 	661T C) &Ii 

j6)606q D) 	LDG) 	GTGTT 	65)65TffJLD 

J-v11c1 	t1T? 

31r 	 )5d TTaft 

Which of the following is a bi-lingual form? 

A) Office seal 	B) Office orders C) Letter heading D) All above 
OR 



IS 

WAP-7 	6ff 	rr616) 66)61 	6)Jff 	LL®á&ff6rr 2 A PT 
FFbi 	46LD0ir9rI? 

WAP-7 e*) 	eIa1 clI FEAZ 	f~m 2A PT 	T 1TT ? 

Where the 2 A PT fuse located which is for tine voltmeter in WAP-7 loco? 

A)SB-2 B) HB-2 C) HB-1 D) SB-i 

100 ôTJLb Qw 	8G1f16N 6)J6 	(p6ôT9J QLnrr1 	J8uifl6b 

UU UDJ? 

A) L11Tr15UJ - 	 - 	FJ6\)Lh B) - 	FIII6\)Li - til rj rr_bl lui 	C) 

LT11051UJW - 	FhJl6\)W - 	 D) 	LD6l) 6rgW11L 

-rzr 

3'I-d 

Which of the following sequence of languages used in a tn-lingual form of letter? 

A) Regional - Hindi - English 	B) Hindi - English - Regional 

C) Regional - English - Hindi D) none of above 

OR 

JGb OHE @66T 	UJ6i)UF16lT 	6)J6)61) 	6öT(LD 6r? 

-1ItId *tT OHE wT 	ii-ii-i wr4qfw 

Which of the following is the normal working voltage of OHE? 

A)22.5 KV —27.5 KV B) 25 KV C) 19.5 KV D) None of the above 
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Written Examination for the post of Technician GR.III/GS/Power wingJLDCE Quota 

For the protection of single-phase 1.5 kW motor, a MCB of rating 

Should be provided 

(A) 10 A 	(B) 16 A 	(C) 32 A 	(0)63 A 

The low power factor results in 

(A) Increased losses 	(B) Decreased losses 

(C) No effect on losses 	(D) Better generating efficiency 

Which of the following reduces the power factor 

(A) Motor on no load (B) Tube lights (C) Fans (D) All of the above 

Unit of resistance is 

(A) Ampere (B) Volts (C) Ohm (D) none of the above 

The instrument to measure the light is called 

(A) Tong tester 	(B) Lux meter (C) Micro meter (D) Volt meter 

A.C. is converted into D.C. by 

(A) Dynamo (B) Motor (C) Transformer (D) Rectifier 

Kilowatt-hour is a unit of 

(A) Energy (B) Electrical potential (C) Power (D) Electric current 

In house wiring the red wire indicates the 

(A) Phase (B) Neutral (C) Earth wire (D) Dead wire 

In house wiring the black wire indicates the 

(A) Phase (B) Neutral (C) Earth wire (D) Dead wire 

Instrument used for measuring the thickness of wire/strip is 

(A) Lux meter (B) Tachometer (C) Micrometer (D) None above 

In wiring circuit the fuse will be placed on 

(A) Phase (B) Neutral (C) Earth (D) Any of the above 

To switch ON or switch OFF the supply in accordance with day light, following is used 

(A) Light dependent resistor (B) Light emitting diode 

(C) Any of a & b 	 (D) None of the above 

Resistance of open circuit is equal to 

(A) Zero 	(B) Infinity 	(C) Less than 1 ohm 	(D) None above 

Capacitor opposes 

(A) Instantaneous change of voltage 

(C) Instantaneous change in resistance 

(B) Instantaneous change of current 

(D) None of the above 

Inductor opposes 

(A) Instantaneous change of voltage 

(C) Instantaneous change in resistance 

(B) Instantaneous change of current 

(D) None of the above 

J. 
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Diode allows the flow of the current 

(A) In one direction 	 (B) In both the directions 

(C) Flow of current not allowed 	(D) None of the above 

When capacitances are connected in series, the equivalent capacitance 

(A) Decreases (B) Increases (C) No change (D) May increase or decrease 

Which of the following is used for concealed wiring in a house 

(A) PVC conduit (B) GI pipe (C) Spun concrete pipe (D) Any of the above. 

The size of copper wire used for point wiring in sq mm is 

(A)1.5 (B)2.5 (C)4 (D)10 

Which material is recommended as fire extinguisher in electrical cases 

(A) Carbon tetra chloride (B) Carbon dioxide (C) Sulphur hexafluoride (D) Any of the above 

Which of the following is to be necessarily kept in a electric substation 

(A) First aid box (B) Stretcher (C) Earthing rod (D) All of the above 

The ratio between the number of turns on the primary to the turns on the 

secondary of a transformer is known as: 

(A) turns ratio (B) efficiency 	(C) winding factor (D) power factor 

The ratio of maximum demand to the connected load is termed as 

(A) Load factor (B) Demand factor (C) Contract demand (0) none of the above 

10 hours use of 500 watt lamp will consume the energy 

(A) 10 units 	(B) 20 units (C) 5 units (D) 2 units 

Farad is a unit of 

(A) Flux (B) Capacitance (C) Mutual inductance (D) Resistance of a conductor 

Heater element is made up of 

(A) Tin (B) Nichrome (C) Silver (D) Any above 

An insulator should have 

(A) High resistance (B) High conductance (C) High conductivity (D) All of the above 

Insulating resistance is measured by using 

(A) Multimeter (B) Insulation Megger (C) Voltmeter (0) Hydrometer 

If a 60W and 100 W lamps in series and are connected to a source of supply, which lamp will give 

more light 

(A) 100W (B) 60W (C) Both will give same light (D) None of the bulb will glow 

The Visible, Audible, Partial discharge at the surface of conductor at high voltage is called 

(A) Skin affect 	(B) Corona (C) Creep (D) None of these 

Following law is applicable in the working of lead acid cell 

(A) Faradays law of self induction. 	(B) Faradays law of mutual induction 

(C) Faradays law of electrolysis. 	(D)Newton's law of motion 

-Al  
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32. Even when not in use, a lead acid battery should be recharged once in 

(A) Six week (B) Six days (C) Three months (D) Six months. 

33. Which of the following are principal safety precautions 

Don't touch live wire or equipment with bare hands 

Before switching on supply see that no one is working in the line 

Use rubber gloves and meeting. 

(0) All of the above. 

34. Which of the following is to be necessarily kept in a electric substation 

(A) First aid box (B) Stretcher (C) Earthing rod (D) All of the above 

35. How many watts are in a hp? 

(A) 700 (B) 725 (C) 740 (D) 746 

36. Which of the voltage is not available for Indian distribution system? 

(A) 33 kV (B) 11 kV (C) 280 V (D) 433 V 

37. Power factor is the ratio of 	and apparent power 

(A) Active power (B) Reactive power (C) Load Factor (0) Maximum Demand 

38. An electric lamp is marked 100 watt. It is working on 200 Volts. 

The current through the lamp is given as 

(A) 0.5 A 	(B) 0.2 A (C) 5.0 A (D) 1.0 A 

39. Instrument used for measuring the speed of rotating machines/appliances is 

(A) Lux meter (B) Tachometer (C) Micrometer (D) None above 

40. Instrument used for measuring the current is 

(A) Ammeter (B) voltmeter (C) Thermometer (D) None above 

41. The material filled in breather of transformer is 

(A) Silica gel 	(B) Sulphuric acid 	(C) SF6 	(0) Mineral oil 

42. Core of a transformer is made up of 

(A) Aluminium 	(B) Carbon (C) Lead (D) Silicon steel 

43. The power factor in a transformer 

(A) Is always unity 	(B) Is always leading 

(C) Is always lagging (D) Depends on power factor of load 

44. The short circuit test of a transformer gives 

(A) Copper loss at full load 	(B) Copper loss at half load 

(C) Iron loss at any load 	(D) Sum of iron loss and copper load 

45. Which of the following does not change in a transformer? 
(A) Current (B) Voltage (C) Frequency (D) All of the above 

46. The path of a magnetic flux in a transformer should have 

(A) high resistance (B) high reluctance (C) low resistance (D) low reluctance 

47. Which of the following is not a part of transformer installation? 

(A) Conservator 	(B) Breather (C) Buchholz relay (D) Exciter 



Efficiency of a power transformer is of the order of 

(A) 100 percent (B) 98 percent (C) 50 percent (D) 25 percent 

The transformer laminations are insulated from each other by 

(A) mica strip (B) thin coat of varnish 	(C) paper 	(D) any of the above 

Which of the following parts of a transformer is visible from outside? 

(A) Bushings (B) Core (C) Primary winding (D) Secondary winding 

Maximum permissible earth resistance at major Sub-stations is 

(A) 0.5 ohm (B) 1 ohm (C) 2 ohms (D) 8 ohms 

52 Maximum permissible earth resistance at small Sub-stations is 

(A) 0.5 ohm (B) 1 ohm (C) 2 ohms (D) 8 ohms 

Earthing arrangement for residential buildings should be inspected at an interval of 

(A) 3 months (B) 6 months (C) 9 months (0) 12 months 

In pipe earthing, the minimum internal diameter for GI pipe should be 

(A) 30 mm (B) 40 mm (C) 50 mm (D) 60 mm 

In pipe earthing, the minimum internal diameter for cast iron pipe should be 

(A)8Omm (B)9Omm (C)lOOmm (D)6Omm 

56.As per Indian electricity rules the maximum variation allowed in frequency of AC supply is 

(A)±2% (B)±3% (C)±4% (D)±5% 

As per Indian electricily Iues the maximum variation allowed in voltage of LV & MV AC supply is 

(A)±2% (B)±3% (C)t4% (D)±5% 

As per Indian electricity rules clearance of the lowest conductor vertical above the building for HT 

lines should be 

(A) 4 ft. 	(B) 6 ft. 	(C) 8 ft. 	(D) 12 ft. 

As per Indian electricity rules clearance of the conductor Hori2ontal from the building for HT lines 

should be 

(A) 4 ft. 	(B) 6 ft. (C) 8 ft. 	(D) 12 ft. 

As per Indian electricity rules the clearance between the conductor and pole for 11 kV lines, should be 

(A) 6" 	(B) 9" 	(C) 12" 	(D) 1'3" 

Recommended no. of light points in type II quarter is 

(A)5 (B)6 (C)7 (0)8 

Recommended no. of light points in type III quarter is 

(A)5 (B)6 (C)7 (D)8 

Recommended no. of fan points in type IV quarter is 

(A)2 (B)3 (C)4 (D)5 

Candela is the unit of which of the following? 

(A) wavelength (B) luminous intensity (C) luminous flux (0) frequency 
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Illumination of one lumen per sq. metre is called 	. 

(A) lumen metre (B) lux (C) foot candle (0) candela 

Filament lamps operate normally at a power factor of 

(A) 0.5 lagging (B) 0.8 lagging (C) unity (D) 0.8 leading 

Which of the following lamps is the cheapest for the same wattage? 

(A) Fluorescent tube 	(B) mercury vapour lamp 	(C) GLS lamp 	(0) sodium vapour lamp 

The colour of sodium vapour discharge lamp is 

(A) red 	(B) pink 	(C) yellow (0) bluish green 

The vapour discharge tube used for domestic lighting has 

(A) no filament (B) one filament (C) two filament (D) three filament 

Which of the following is present inside the fluorescent tube? 

(A) argon and neon (B) argon and CO2 (C) mercury vapour (D) helium and oxygen 

If a DG set fails to start, the probable cause may be 

(A) Dirty clogged air cleaner 	(B) Fuel tank empty 

(C) Nozzle niddle jammed 	(D) All of the above 

If a DG set gives white smoke, the probable cause may be 

(A) Water mixed with fuel 	(B) Engine used after a long time 

(C) Worn out liner piston 	(D) All of the above 

If the armature of DG set overheats, the probable cause may be 

(A) Overloading (B) Internal short circuit 	(C) Both a &b 	(0) None of the above 

Which of the following is the last step in diesel engine operation? 

(A) Induction stroke 	(B) Compression stroke 	(C) Ignition stroke 	(0) Exhaust stroke 

For a DG set, the copper losses in the alternator are proportional to the: 

(A) Current delivered by the alternator 	(B) Square of the current delivered by the alternator 

(C) Square root of the current delivered by the alternator 	(D) None of the above 

During warming up, the load should be applied gradually on a DG set until the oil temperature 

reaches 

(A) 40 deg C 	(B) 60 deg C (C) 80 deg C (D) 100 deg C 

The diesel engine should not be operated if the pH value in the radiator is less than 

(A) 6.5 	(B) 8.5 	(C) 10.5 	(D) 12.5 

If the alternator of DG set is overheats, the probable cause may be 

(A) Improper ventilation 	(B) Misalignment 

(C) Overloading of machine 	(D) All of the above 

Primary filters in the fuel system of the DG set should be replaced at every 

(A) 500 hrs 	(B) 800 hrs (C) 1000 hrs 	(D) 1500 hrs 



The efficiency of diesel generating set falls in the region of 

(A) 35 45% 	(B) 50— 60% (C) 65 - 70% (D) Above 80% 

Which of the following is not a non conventional energy source 

(A) Solar 	(B) Bio gas 	(C) Wind 	(D) Electricity 

Solar energy is used for 

(A) Lighting 	(B) Cooking 	(C) Battery charging 	(D) All above 

Which of the following is not a type of generating station 7  

(A) Thermal 	(B) Nuclear (C) Hydro (D) Atmospheric 

Bio gas depends on 

(A) Electrical energy (B) Waste products (C) Both a and b 	(D) None of the above 

If pump delivers no liquid, then probable cause is 

(A) Lack of prime 	(B) Gas or air in liquid 	(C) Bent shaft 	(D) Moisture in lubricating oil 

If pump discharge pressure is low, then probable cause is 

(A) Lack of prime 	(B) Gas or air in liquid 	(C) Bent shaft 	(D) Moisture in lubricating oil 

If there is excessive vibration in pump, then probable cause is 

(A) Lack of prime 	(B) Gas or air in liquid 	(C) Bent shaft 	(D) Moisture in lubricating oil 

Motor of the VS pump is located 

(A) Above the ground level 	(B) Below the ground level 

(C) Deep in the bore 	 (D) None of the above 

Pump set motor burns due to 

(A) Single phasing 	 (B) Reverse phasing 

(C) Over loading for a shorter period 	 (D) None of above. 

For a 10 HP pump set which type of starter is suitable 

(A) DOL 	(B) Start Delta 	(C) Auto Transformer 	(D) None of the above 

No. of contactors provided in star-delta starter 

(A) 1 	(B)2 	(C)3 	(D)4 

What is the impact on flow and pressure when the impeller of a pump is trimmed? 

(A) Flow decreases with increased pressure 	(B) Both flow and pressure increases 

(C) Both pressure and flow decreases 	(0) None of the above 

For high flow requirement, pumps are generally operated in 

(A) parallel 	(B) series 	(C) any of the above 	(D) none of the above 

The moving part in centrifugal pump is ----- 

(A) impeller 	(B) diffuser 	(C) both a & b 	(D) neither a nor b 

RPM of submersible pump set is 

(A) 440 	(B) 1440 (C) 380 	(D) 2800 

Ammeter is provided in control panel of pump set to measure the 

(A) Voltage (B) Frequency 	(C) Power Factor (D)Current 
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For vertical shaft pump and submersible pumps the suction head is always. 

(A) Positive 	(B) Negative 	(C) Zero 	(D) None of the above. 

For large capacity centrifugal pumps, design efficiencies are in the range of 

(A) around 30% 	(B) around 85% (C) around 98% (0) any of above 

If the speed of a centrifugal pump is doubled, its power consumption increases by-----times 

(A) two 	(B) four (C) eight 	(D) no change 

The insulating material for a cable should have 

(A) low cost 	(B) high dielectric strength 	(C) high mechanical strength 	(D) all of the above 

What are the three regions as per provisions made in the official language rules? 

(A)P,Q,R (B)E,F,G (C)A,B,C (D)J,K,L 

What is the official language of union of india? 

(A) English 	(B) Hindi 	(C) Urdu 	(0) Telugu 

How many members are there in the Parliamentary Committee on Official Language? 

(A)30 (B)40 (C)50 (D)60 

When is Hindi day celebrated? 

(A) 14"  October 	(B) 15"  October (C) 14"  September (D) 15' September 

How many languages are enlisted in the 811  schedule of Indian constitution? 

(A) 22 	(B) 23 	(C) 24 	(D) 25 

When was official language act passed? 

(A) 1963 	(B) 1968 	(C) 1973 	(D) 1978 

Name the script of Hindi language? 

(A) Devanagari 	(B) Roman 	(C) Dravidian (D) Arabic 

What is the official language of Nagaland? 

(A) Hindi 	(B) English 	(C) Assamese (D) Arabic 

What is the official language of Himachal Pradesh? 

(A) Urdu 	(B) English 	(C) Bhojpuri 	(0) Hindi 

As per provisions made in the official language rules, Rajasthan belongs to 

(A) Region P 	(B) Region E 	(C) Region A (0) Region B 

A. 
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1) An electrolyte used in train lighting cell is the mixture of 
sulphuric acid and tap water 
suphuric acid and mineral water 
suphuric acid and demineralized/distilled water 
sulphuric acid and hydrochloric acid 

2) Trickle charging of storage battery help to 
A) Compensate for internal losses 	B) Increase its capacity 
C) Maintains proper electrolyte 	D) Increase battery life 

3) Pitch circle diameter of Axle pulley of 11OV TL system 
A) 200 mm 	 B) 572.6 mm 
C) 584 mm 	 D) 584.8 mm 

4) The purpose of TL Alternator used in Railways 
Charging the coach battery on train run 
Working of lights and fans in the coach during train run 
Shanng the load to other coaches in case of emergency 
All the above 

5) The illumination level is measured by ...................... 
A) Lux meter 
	

B) Hydrometer 
C) Hygro meter 
	

D) Tacho meter 

6) In 110 V TL coach main negative fuse is of .............................amp. 
A) 35 amps 
	

B) 45 amps 
C) 52 amps 
	

D) 40 amps 

7) The purpose of RCBO provided in LHB non-ac coaches is 
Protection against electric shock 
Protection for equipment 
Protection for battery 
Protection for inverter 

8) The rating of feeder change over switch used in LHB Non-AC coaches is 
A)20A 	 B)16A 
C)IOA 	 D)50A 

9) Field coils of I 20V TL coach alternator are connected in 
A) Star 
	

B) Delta 
C) Series 
	

D) Parallel 

10) The periodicity of maintenance schedules of SS2 for LBH Non-AC coach is 
A) 6 Months 	 B) 12 Months 
C) 18 Months 	 D) 36 Months 

11) The BLDC fan is suitable for working voltage in the range of 
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A)90-11OVDC 
	

B) 110 - 120 V DC 

C) 90— 140 V DC 
	

D) 120-150VDC 

The rating of HRC fuse for light circuit in 110 V BG TL coach is 

A)6A 	 B)16A 

C)35A 	 D)63A 

Internal resistance of a cell is 0.1 Ohm and 10 cells are connected in series to form a 
battery supplying a current of 1 A, the power lost in the battery is 

A)0.5W 	 B)1W 

C)5W 	 D)50W 

14)10 hours use of 500 watt lamp will consume the energy 
A) 10 units 	 B) 20 units 

C) 5 units 	 D) 15 units 

15) Level of illumination in First class TL coach (with FL tube) should be 

A) 16 Lux 	 B) 30 Lux 

C) 40 Lux 	 D) 60 Lux 

16) The color codes adopted for wiring for SPM positive cable is 

A) RED 	B) BLACK 	C) YELLOW 	D) BLUE 

17) MMR relay is provided to check the 
A) Incoming supply to the coach 	 B) power 

C) Resistance 	 D) Inductance 

18) The train lighting wiring is 
A) two wire earthed system 

	
B) two wire unearthed system 

C) one wire earthed system 
	

D) one wire unearthed system 

19) The Road gap on the L.V side of 11 kv/415, 250 KVAtransformer is 

A)300mm 	 B)lOOmm 	C)5Omm 

D) Road gap L.A is not provided for L.V side of transformer 

20) What is AH capacity of cells used in TL coaches 
A)110 	 B)1100 

C) 120 	 D)800 	
14 

21) Capacity of limit switch provided for alarm chain pulling indication light circuit is 
A)1OA 	 B)15A 

C)34A 	 D)40A 

22) The battery charging current limit with 4.5 kW ERRU is to be set at 
A)24A±2A 	 B)12A±2A 
C)36A± 2A' 	 D)40A± 2A 



While giving supply to adjacent coaches through EFT the supply polarities are to be 
maintained 

A) same polarity 
	

B) opposite polarity 

C) any polarity 
	

D) Double polarity 

Iso pack power diode modular is used for converting 
A)DCtoAC 	 B)ACt0DC 
C) Both A & B 	 D) AC to ZigZag 

14 

	 25 ) The insulation material recommended for alternator windings of 3 & 4.5 kW 110 V 
shall be ------------ class 

A)A 	 B)B 
C)F 	 C)D 

26 )The wattage of TL fan 
A)32W 	 B)IOW 
C)80W 	 D)60W 

27) In Non-AC LHB coach the underslung mounted cubicle is called 
A) LV panel 	 B) HV panel 
C) EHV panel 	 D) None of these 

28) The type of cables used in LHB Non-AC coaches is 
A) E-beam cables 	 B) PILC 
C) XLPE 	 D) PVC 

29) In order to draw less current from the electric source 
Resistors are connected in parallel 
Resistors are connected in series 
Resistors are connected in parallel and series 

0) Resistors are connected in diagonal 

30) What is the approximate filament resistance (in ohm) of a light bulb if it operates from 
a 120 V source and 0.6A of current is flowing 

A) 720 
	

B) 20 
C) 72 
	

D) 200 

31) The peak value of a sine wave is 200 V. Its average value is 
A)127.4V 	 B)141.4V 
C)282.8V 	 D)300V 

32) Specific gravity of distilled water is ............ 
A)2.0 	 B)1.0 
C) 3.0 	 D) 4.0 

33) If you wish to increase the amount of current in a resistor from 20 A to 60 A by 
changing the 40 V source what should be the new voltage setting be? 



A) 80 V 
	

B) 120V 

C) 320 V 
	

D) 12 V 

The size of copper wire used for 3 phase AC winding is of.  

A)45 	B)16 	C)35 	D)18 

The frequency of induced voltage in an alternator depends upon 

A) Speed of Rotor 	 B) Excitation voltage 

C) Both A & B 	 D) Capacitance 

The capacity of alternator used in power car is 

A) 350 KVA 	B) 300 KVA 	C) 500 KVA 
	

D) 500 KVA 

The air clearance of between live part and coach body is 

A) 4 mm 	B) 10 mm 	C) 12 mm 
	

D)6mm 

The light circuit which consists essential lighting load of the conventional coach is 
A) LI circuit 	B) L2 circuit 	C) Both A & B 	D) L3 circuit 

The voltage selling of the TL regulator is done at ---------keeping load current 

at .........Amps 
A)124V,19A 	B)128V,37.5A 	C)128V,19A 	D)213V, 20A 

The main function of RRU 
A) Rectification 	 B) Current regulation 

C) Voltage regulation 	 D) All of the above 

The operating voltage of Pantry equipments in LHB Non-AC chair car is 

A) 110 V DC 	B) 230 V AC 	C) 110 V AC 	D) 230 V DC 

The no. of fuses available in Power transformer is 
A)3 	 B)6 	 C)9 	 D)10 

The rating of fuse provided for main HT 750 Volts of Transformer input circuit in LHB 
Non-AC coach is 

A)25A 	 B)30A 	 C)16A 	 D)35A 

The no. of panels available in LHB Non-AC coach are 

A)4 	B)3 	C)2 	D)8 

The type of light used for night lights in LHB Non-AC coach is 
A) FL 	 B) CFL 	C) LED 	 D) IC lamp 

The total connected load in LHB Non-AC coaches is 
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A) 1104W 	B) 2004W 	C) 2084W 	D)5000W 

The maximum allowable gap between two halves of axle pulley should be 
A) 3+0.5 mm 	B) 4 mm 	C) 3 mm 	D) 5 mm 

The input fuse rating for MMR relay in LHB Non-AC coaches is 
A)2A 	 B)1.5A 	 C)0.5A 	 D)1A 

The color code adopted for wiring for light positive cable in LHB Non-AC coaches is 
A) RED 	B) BLACK 	C) YELLOW 	D) BLUE 

The different maintenance schedules for LHB Non-AC coaches in Workshops is 
A) SS1 	 B) SS2 	C) Both A & B 	D) SS3 

In 120 Ah VRLA batteryis used 
A) 9 modules of 1 2V each 	 B) 19 modules of 6V each 
C) 18 mono block 	 D) 56 cells 

The rating of Disconnecting & Earthing Device in LHB Non-AC coaches is 
A)63A 	 B)16A 	 C)32A 	 D)20A 

The main contractor for feeder 2 is 
A)K01 	 B)K02 	C)BothA&B 	D) K03 

The current limit for battery charging is 

A)16A 	B)25A 	 C)20A 	 D)30A 

The equipment used to prevent pump current flow through axle beanng is 
A) Wheel set earthing equipment 	B) D&ED 
C) Transformer 	 D) Regulator 

Capacity of Diesel Engine provided in LHB Power Car is____ 
A) 496 BHP 	B) 400 BHP 	C) 600 BHP 	D) 800 KVA 

Rating of feeder contactor used in LHB Power car is_________ 
A) 400 amps 	B) 630 Amps 	C) 800 amps 	D) 900 amps 

HOG means__________ 
A) Head Over Generator 

	
B) Heat On Generation 

C) High voltage On Generation 
	

0) Head On Generation 

LV panel means 
A) Last voltage 
	

B) Low voltage 
C) Least Voltage 
	

D) Large Voltage 



The number of feeders through which supply from power car is transmitted to all 
coaches in a LHB type rake is 

A)2 	 B)4 	C)3 	D)5 

The rating of main power transformer in LHB Non-AC coaches is 
A)12KVA 	B)1OKVA 	C)9KVA 	D)25KVA 

The main purpose of pump controller is to control the 
A) WRA pump 	 B) WSP 	 C) Contactors 	D) Transformer 

The periodicity of maintenance schedules of D3 for LHB Non-AC coach is 

A) 36 months 	B) Monthly 	C) 18 months 	D) 6 months 

Feeders are protected with 	at Power Car. 

A) EFR 	 B) OLR 	 C) Both A & B 	D) None of these 

The class of insulation of winding in transformer is 
A) H - class 	B) F- class 	C) E- class 

The rating of WRA pump used in LHB Non-AC coaches is 
A) I HP 	 B) 2 HP 	 C) 0.5 HP 

Diode conducts the current in ---- direction only 

A) forward 	B) reverse 	C)bothA&B 

Cut in voltage of TL alternator is 
A)108V 	B)115V 	C)124V 

The number negative plates in a lead acid cell is. 
A)7 	B)9 	C)10 	D)8 

D - Class 

1.5 HP 

D) None of the above 

D) 140 V 

The input voltage to the LHB Non AC coach from the power car is 
A)415VAC 	B)75OVAC 	C)11OVDC 	D)1IOVAC 

How many types of lead acids are used in Train Lighting 
A)2 	 B)5 	 C)4 	 D)3 

In SG TL coach what is the size of wire used for light and fan wiring? 
A) 4mm 	 B) 5 mm 	C) 6 mm 	D) 8 mm 

LHB means 
A) Line Hofmanned Bosch 	 B) Linke Hofmann Busch 

C) Linke Hofmanned Bosch 	 D) Line Hofman busch 

The feeder contactor coil in LHB Non-AC coaches is 
A)IIOVAC 	B)11OVDC 	C)4I5VAC 	D)415VDC 



As per IE Rule, HV is from 
A) 0-250V 	B) 251-650V 	C) 651V-33KV 	 D) Aove 33 KV 

The capacity of RBC (Regulated Battery Charger) provided in LHB non-ac coach is 
A)4.5kw 	B)6.Skw 	C)7kw 	 D)lOkw 

The type of fuse provided in LV panel for Lights & fans main circuit is 
A) glass fuse 	B) HRC fuse 	 C) Rewirable fuse D) Optic fuse 

What is the size of cable used for R, Y, B phases in the feeder junction box 
A) 70 sq.mm 	B) 95 sq.mm 	C) 125 sq.mm 	 D) 150 sq.mm  

What is the lighting circuit operating voltage 
A) 12 V DC 	B)24 V DC 	C) 110 V DC 	D) 110 VAC 

The size of cable used for Neutral in feeder junction box is 
A) 150 sq.mm 	B) 125 sq.mm 	 C) 95 sq.mm 	D) 70 sq.mm  

What is the rating of the battery provided in the LHB Non-AC coach 
A) 70AH 	B) 100AH 	C) I10AH 	D) I20AH 

The transformer fitted in the underslung with how much anti-vibration 
A)2 	B)4 	0)6 	D)8 

What is the size of the fan used in LHB Non-AC coaches 
A) 100 mm sweep 	 B) 200 mm sweep 
C) 300 sweep 	 D) 400 mm sweep 

Which color of the two bands is in BLDC fan 
A) green and yellow 	 B) green and red 
C) red and yellow 	 D) blue and yellow 

What is the purpose of the push-button provided in the LV panel 
A) To check rotary switch 	 B) to check mobile charger 
C) to check emergency light 	 D) to check the fan 

Hydrometer used in TL system is 
A) Syringe type hydrometer 	 B) Suction hydrometer 
C) Acido hydrometer 	 D) Battery hydrometer 

110 V TL coaches are provided with ..............batteries 
A) mono block batteries 	 B) individual cells 
C) sulphuric acid batteries 	 D) None of the above 

Size of V belts used for driving 110 V 4.5 1KW TL alternators 
A)C150 	 B)C124 	 C)C118 	 D)C122 



89) The minimum insulation resistance to be maintained for 4.5 KW alternator is 
A) 1 Mega ohm 	 B) 20 Mega ohm 

C) 2 Meha ohm 	 D) 50 Mega ohm 

90) The rating of glass fuse used in branch circuit f coach is 
A) 2A 	 B)1.5A 	 C)0.5A 	 D)1A 

91) Resistance means 
A) help to the flow of current 	 B) opposition to the flow of current 

C) Reverse the flow of current 	D) doubles the flow of current 

92) Three lights are connected in parallel across a 1 2Ovolt source. If one light burns out 
the remaining two will glow dimmer 
the remaining two will glow with the same brightness as before 
the remaining two will glow brighter 
the remaining two will not light 

93) Where is the Railway Institute of Electrical Engineering situated 
A) Pune 	B) Vadodara 	C) Nasik 	D) Yelahanka 

94) Where is the Head Quarter of South Western Railway 
A) Jaiupur 	B) Bhuwneswar 	C) Culcutta 	D) Hubballi 

95) The capacity of battery used in 110 V TL system 
A)12OAH 	 B)320Ah 	C)2lOAh 	D)9OAh 

96) What is the minimum insulation resistance of 750 Volts wiring and equipment 
A) 1 mega ohms 	B) 2 mega ohms 
C) 3 mega ohms 	D) 5 mega ohms 

97) Electrical tires on coach is mainly due to 
A) loose connections 	 B) short circuits and earth faults 

C) under size cables 	 D)All the above 

98) Emergency Light Unit consist .........type of battery 
A)flooded 	 B)VRLA 
C)BothA& B 	 D) None of the above 

99) The pump controller is used to control pump for every ..............hours from pump I to 

pump 2 
A) 4 hours 	B) 6 hpurs 	C) 2 hours 	D) 8 hours 

100) The rating of MPCB provided for pumps in LHB Non AC coaches is 
A) I A 	B) 2 A 	C) 2.5 A 	 D) 1.6 A 

101) When was the Official Languages rules passed 
A) 1976 	 B) 1963 	 C) 1956 	 D) 1979 
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102) Who chaired the first Railway Hindi Salahkar Committee constituted in 1973 

 Shri Om Mehta 
 Shri Lalit Narayan Mishra 
 Shri. Jawaharlal Nehru 
 Shri. Rajendra Prasad 

103) Which Sub-Committee of the Committee of Parliament on Official Language 
inspects Railway Ministry 

 Estimate Committee 
 Finance Committee 
 First Sub-Committee 
 Second Sub-Committee 

How many members are there in the Committee of Parliament on Official 
Language? 

A) 30 	 B) 35 	 C) 20 	 D) 25 

What is the Award amount for getting 55 to 59 percentage in Parangat 
examination.? 

A) Rs.4000 	I- 	B) Rs. 4500/- 	C) Rs. 3750/- 	D) 4300/- 

Which Ministry takes important decisions pertaining to Official Language? 
A) Home Affairs 	 B) Railways 
C) Social justice 	 D) Education 

Which Union Territory is classified under Region "C" 
A) Lakshadweep 	 B) Delhi 
C) Chandigarh 	 D)Andaman 

At present how many languages are enlisted in the 8th schedule of the Constitution 
A) 20 	 B) 24 	 C) 22 	D) 25 

Which is the final Hindi Course prescribed for clerical cadre employees of Central 
Government 

A) Pragya 	B) Prabodh 	C) Parangath 	D) Praveen 

In which order Name, Designation and Sign Boards are to be exhibited 
Hindi, English, Regional 
Regional, English, Hindi 
Hindi, Regional, English 
Regional, Hindi, English 
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1. The meter used for (fl ;king condition of bearing is 

rnii 	(6tST 6O6UJ ffUffff UUJ6TU®UUG'LD &LJ 

6T?  

pgii 	 g 1tTt? 

Hygrometer 

Noise level meter 

Shock pulse meter 

Vernier calliper 

	

2. 	Instrument used for riisuring the speed of rotating machines / appliances is 

&TLW 	 / 66T C6)J56 	1GnG))L1I uuJ6TLJ1 

6T? 	 _______ 
ufr 	U1) 	Tfft ITtf 	i Wj 	fc*d Uc1UI 	T 

Lux meter 

Tachometer 

Micro meter 

None above 

	

3. 	A Voltmeter is to be cc , mectecl in  

	

JrrG)L LÔLL6 	 L6T 06MOUts CQJ6T®LD 

	

&__ 	 TT9T 

Parallel 

Series 

Parallel or SrE:; 

None of the AIove 

4. Popular instrument MEGGER is used for measuring_ 

9(5 Qiür  6TLiTjI 	 p1r6T 17U6OWff6T 	UJffLO 

g 	4 MEG GE T 	I - 	 T ThT 

Voltage 

Current 

Polarity 

Insulation Hr 	rnce 

5. 	Instrument connecteil 	the circuit with the ammeter (in panel) to facilitate the 

measurement of curi 	Hr; 

C6T1rLLft693 IG11L 	Q41b 4Lb1LL(L6& (CU6T651160) &1ffiGb 

UI 

Current traw,h ncr 

Potential trar 	;rner 

Excitation trcnr nrmer 

None of the luvc 



6. Device used for auto off an electric iron is 

L6T&flJi\1 Qui46uJ uirroma &l66T 	uuJ6TULb &rrub 

Thermostat switch 

Overload relay 

Time delay switch 

Any of the above 

	

7. 	If the relay settinh, of 100/5 CT is at 3.75, then the tripping will be at a load current of 

100/5 CT @68T çKo l6LUüLI  3.75 	 brrGo,L^arhj ffr6LD 

bCurr6uJ pmwaGb Q(LD 

100/5 CT 	ff 	1T 3.75 W t, Tt ff 1T 	 1T 

65Amp 

55 Amp 

75 Amp 

45 Amps 

8. MMR means 

MMR (Jp(!p 6)JG)iL 

VFV9T3flT 

Main monitoring relay 

Measurin, Monitoring Relay 

motor mouitoring relay 

None 

	

9. 	What is the measuHog unit of contact resistance? 

Q1rLL4 6T,1ULi6U 	GTTQ5)®LD I6O( 6T6T6T? 

Micro ohm 

Ohms 

Kilo ohms 

Mega ohmo 

10. Temperature witliotanding capability of class H insulation is: 

G)i(LI H 5,rrLiL1oT QGJLJLJ6GO 	1[ftLD 	6T: 

-44 H -1l-1 	 P171T qT ? 

IR 	 a. l55degC 

180 deg C 

9OdegC 

llOdegC 

11. Before starting tb: work on faulty circuit it should be ensured that 

urri 	&fi C 	ouj QL&J 	(6T, 

______ iJ6 	 Q&tLJuJjLb. 

{dffil 



The faulty p(rton has been isolated from the power supply 

The worker is strong enough to climb the pole 

The cable is not deep enough to dig 

None of the bove. 

12. What is the minimum lockup time for 1kVA to 7.5 kVA UPS provided for UTS/PRS 

application? 

	

UTS/PRS UUJ6TU[fLD( 	
rJ8L:JULL 1kVA (pt) 7.5 kVA UPS 

Us6orr6T (6ö)d9UL& mL4LIIL 	Cib 6TT6T? 

[Q/t3IRQi 	J 	fiiv crir tv iv 1kVA # 7.5 kVA UPS t 14tr 

3TT TTZt zn 

1 Hour 

1 '/2 Hours 

2 Hours 

2 1/2 Hours 

13. The condition for pai iH,,l operation of two transformer is 

6T® W ° 6)6T1 6TUJffff) u 	rr6T 

ij IThl 

Both should o:vu the same polarity 

Both should 'cn'e phase sequence 

Both should dove same % Impedance 

all the above 

14. Tn-vector meter 	for measuring 

	

-QGJÔLJ LñL HI 	M &16TT1L0 uujôTu®WI. 

f- 	 TTt 

Voltage, Curie'H 	Frequency 

Kwh , KVAh und KVARh 

Voltage, kW d LVAR 

Current, kW 	<VA 

15. Frequency of testind (,n th resistance of building is 

ic1G)J6T 	4L6ØT LG)1 L6öT6ö)L 

34T[ tIfR1V 	L 	T 

Monthly 

Quarterly 

Half yearly 

Yearly 

16. For low tension ove 0. 	power line erected across the street, minimum clearance above 

ground to lowest (5) 'n.. or is 

Q66T 	JGh 	WUL®thT61T 	 T6T( 	L&ØT 

bLi1uiT
$tT 

 jL& 	jLfl, 	 ___  

tfl 	1T Thid 	 , 

s k1cP0  

4.5m 

5.Om 



A& 
5.5m 

5.8m 

17. What type of MCB s to he used for domestic pumps & Air-conditioners ? 

G)L® ULbL6T1 LDL 6J 	 616 T6T 6)J6UJ16T MCB 

IIU1UL_CG)J6TLb? 	 __ 	 ___ 

I 1TT 	 lctI 	MCB T _

_

I fTfRT I1? 

Type "B" 

Type"C" 

Type "D" 

None of tho above 

18. If the electrolyte h 	in a lead Acid cell reduces, one has to top up with 

ff,rrUJ 	L1G) 16TffGO6U 61 	LCrr6GoL LDLLLD 	6DJrrGo, 
tf 	 I I1T 

Dilute Suit iriric acid 

Concentrated sulphuric acid 

Distilled water 

Ordinary water 

19. In case of AT suppiy to station load where double line operation is involved, Normally CLS 

panel will be receir ira supply from different sources namely 

rL&L UJ5,8LD 5WUJUULL 6UUJ U(c1JG1I 	AT 5Ü66IT 

QUJ16O, 

 

QL1rf(~)j6)jrr& CLST GUmdo QiiiC 	 ffrffG1f1Gt) 

rrb &jcfiuJü QujLb. 	 _______ 	 ____ 

l -1 	 di1 	4-I I 4-I cl 	fT 	1TT 31ILI 	l -I 	l I 	ci 	'mr 	'1 tci 

{QJ 

UP AT traii ;furmer, DN AT transformer and local EB supply 

UP AT trail dormer, Local EB supply 

Local EB supply, Stand-by DG set supply 

UP AT tran former, Down AT transformer 

20. Which of the folio., inp is used for rectification of AC supply 

06)JD6TT 6T§ mrrp~@6na; 	C6T1rLLft,6 	ffIjIQffUJUJ 

gITTdT 

Transistoi 

Diodes 

Capacitor 

Resistors 

21. If a 120 W and 1001/ lamps in series and are connected to a source of supply, which lamp 

will give more light 

120 W L1D]LU 100W 	 61T QL 	ULGt) 66_)J5&UUL(3, 

G)J5G) 	 L6T 	66Tff,uuLLrr6o, 615 6)6TT 
Q& 	 1r('(jLU 	 ___ 

ZIJ 120T3 100T 	 3f{ 

cfll 



100W 

120W 

Both wil I givi 	1110 light 

None of the Hg will glow 

22. Internal resistance of n :oIl is 0.1 Ohm and 10 cells are connected in series to form a 

battery supplying n 	it of 5 A. The power lost in the battery is 

9(!5 66T6O 	 L616T 6 L 0.1 61LD Q&.L. LDW1D 10 

L606Tff6T Q 	6TU1GO 	66TffUUL® 5 

L6TC6T1FLLft6VJi GJpLD 	Uft6 	ffoTW69. 

CULLI1U5GO_& HLJU'LO &é1 

idr o.1 
-ffm 

2W 

1W 

5W 

50W 

23. If pump delivers no I 	H then probable cause is 

ULbü 6T 	)J€ULb 	 06flGO 6T6TW1F6O, &rFUJLDff6T 

rrJ6 TLb 	 ___ 
ct,  kUl 	T 

Lack of prim 

Gas or air in 'I(ltIId 

Bent shaft 

Moisture in I;I)! 	ating oil 

24. Which of the folIovil 	not a criteria of pump selection 

1Jj ULDLJ C rr6T I61T6)4C8rrc0 mdoco 

fd 	f "f 	 9 

Type of duty 	uired 

Details of heal 

Duration of avaioibility 

The look of pump  

25. Capacity of pump SCI i  aelected on the basis of 

	

ULLI QLth QariTGrrl 	8E6TL 	UU6LLL6i) 

	

juHI 	. 

TfdT Ti EIF lR1d 	fi 1T9T I 

Location of Li r 
Yield, head 011: 	uantity 

Type of starlar :ovided 

Quantity of vjal:I to be used. 

26. Pump set motor burr a Lie to 

ULL QL LO[[LL Hi 9&ffirrLULb 36T6)J(LD 6T 	 6JU(0? 

lilT Tra f5 	51R U 	uj ci cl 



Single pha:ing 

Reverse phasing 

Overloadin for a shorter period 

None of ab:)ve. 

27. Automation of puno set is done to 

uftCi QaLith 	rrcwir 	iarra Qu-LLjLuLjLj(3@_mgj  

To limit tb working of pumps 

To avoid tie wastage of water 

To save th rlectrical energy 

All of the n:iove. 

28. One Horse Power 

8á = 

1 	7 = 

756 watts 

746 watts 

860 watts 

856 watts 

29. In case of overheal Power line crossing of rating above 66 kV and up to 132 kV, what is 

the minimum vertirH clearance? 

66 kV & j 3LD u)~)OLb 132 kV 6)J6n)11 	L46T 	U16U U6)JU GGUGtT 

@FJFTFIFEJujo, 

66 kV 	31T 	32 kV 	1TiT 	c1S 	1T 	ctTii 	-ii-il , -1cl4-I 

fR Pii1 	1 ? 

a, 13m 

14.1 m 

14.6 m 

15.4 m 

30. A 1 hp pump work: Hr 1 hrs per day, monthly energy consumption in kWh will be 

1 	 C3T Qth1F6oTL ULULJ 9(!5 ibrr6n6YT&@ 1 LD61 CLU CGJ6o 

	

LUbry &G 	5G1] kWh @60 ___ 

t 	1 hp 	 1 	c1dI , kWh 	4-1IFct 	 {d.- 	T? 

223.8 

32 

22.38 

30 

31. The purpose of To 	iHia test on Electrical equipment is to 

L616?5T ff1t6t1bJ&GTI Lf1F615T L116T QLGiLIr CffIr J66TUi16T Cyr&,5Lo 

Fz,d 
confirm tb rating mentioned in the name plate 

find the efhciency of the equipment 

c, 	find losses in the equipment 

d. 	to ascertain the condition of insulation 



	

32. In wiring circuit, the u' 	will be placed where? 

6)JUJ ffLJq 1 .), LiJ6\)_6Ti(, G)thffUU®Lb? 

Wzftq 

Phase 

Neutral 

Earth 

Any of the ci 

33. The material used to: cking fuse wire is 

L61Gt1T —( 	166P LHrfllU ULUGTU3LD Qurr(Ith 

IjcI WJ5 9T 	 11 WT 1I-It 	1T ? 

Copper 

Aluminium 

Tinned copp I 

Copper— N 

34. ELCB stands for 

ELCB 966T (bPQ 	i6)JL 6TCôT6T? 

ELCB EI Tzq 	T '.i' 

Earth Loss Cc net Brush 

Earth Leakate Jrcuit Breaker 

Ever Lasting 	ttrol Bush 

None 

35. MPCB stands for 

MPCB GTG rui 6T6Th } 

M PC B T tU tJ 

Miniature Pt t'ction circuit breaker 

Motor protect in circuit breaker 

Maximum yr P 	protection circuit breaker 

None 

36. Which of the followlip 	wi ON LOAD switch? 

	

U)JDG\) 	6T CGO[FL 61\01Lff 6TJ? 

iFT d? 

Isolator 

Circuit Breal 

Both 

None 

	

37. A failed 6 A fuse can 	'placed with 	
P 

6 	 6p6UJ 	)J6JffQ1J WffO1FLD 

	

31T 6 A TRE, 	 t51T 7T *1c dl 

<6Afuse 

>6Afuse 

6Afuse 

Any of the al o 

38. A lead acid cell ShOLJ P A be discharged if its voltage reaches 



	

rnruj â1L\) 	 iuii Lr(QLb 	TG)J(ffLb JrLbu 

L51r6U, 
t.)jj 	3YLI 	 HTlfii eM 

1.75 V 

1.5V 

2V 

1V 

39. Low power factm 

(6D 	if &) 5,17TIJOO 

TJT 

Will not all 	voltage regulation 

Results in I :ller voltage regulation 

Results in pour voltage regulation 

None of th above 

40. To improve the po 	i factor, capacitors are connected in the circuit in 

a&1 	6fl6olU CL1LUU, L 	C61T - 

ULGJ&TT6fl6 T 

Parallel 

Series 

Any of the :hove 

None 

41. For a 10 HP pump d, which type of starter is suitable 

10 HP ULULJQifL ,6T8 61J68 1\)L1rIL4 Qu Lrr6Tj 

1otftqtdFq, f 	VWR T RT'~7 3ckj 

Direct On I ne (DOL) 

Star Delta 

Auto Transformer 

None of tb above 

42. The motor used in i, sel Generator set as starter motor is 

ib QTCUL.L 	n)LrrIJLLIr CLn1[LLn1J1r8 uuuib 
CLUIrLLnU 

# Wc1 

Dc Shunt otor 

Dc compound motor 

DC Series motor 

Induction nafor 

43. Preferred starter fw a 5 H.P Induction motor is 

5 HP 	6TL6 	LD1tL1F( 	6T 	cn)LrrILI QuwrrTJ? 

5 HP 	 Iff*l 	IJ,cd? 

Direct On I ne (DOL) 

Star Delta 

Auto Trannfm mer 



d. None of the Lie 

44. Which component ol 	transformer provides exit path to the gases produced inside 

during fault conditie: 

Ui6& 1b urrffiLD URtj 6JWuLb 	ö6UU6 	TTCTT 

	

(5G)Jrr(L 	 QCuJLi 

t'iq'i4'. 	T 	T JLd tzi fI-IfZ1 	3t 	 fct'ii !TQT 1FT ct,' clI 

Breather 

Conservator 

Buchholz rely 

Explosion veil 

45. AC is converted into fl 

wrr6 	L616TC 	1L) 	T16 	L 	GT1rLLW1rJ WU61JJ 

Dynamo 

Motor 

Transformer 

Rectifier 

46. The purpose of carryri nut Dissolved Gas Analysis (DGA) on a transformer is to 

determine 

9U L 	LorrWIiTh) ff,6J5 	)J1FU4 U(UU1rUJ66)J (DGA) 

CQiwu561 (rráLb 	$wrr1üurrLb 	___ 

t 	 I f 	T 	 T31I 	ff c.ilt 

Normal agin, 	lie transformer 

Condition of 	dation 

Incipient fautr: inch as hot spots, arcing, over heating or partial discharges 

all the above 

47. During open circuit tnt of a transformer 

T 	&J Cifif 	6$TU56& Currj 

jjj 

primary is s. 	d rated voltage 

primary is su!)I)td full-load current 

primary is su)pled current at reduced voltage 

primary is .sL tnud rated kVA 

48. Purpose of Buchholz, ii' provided in Transformer is 

LffpfffiUiGi) L'0&rrdo0O rjC€oGT Cb1rff,5,LD 

Supply indicot 

monitors high 	tinge 

Transformer 	vel indicator 

Protective reIn 

49. Which class of inSLIlk 	con withstand above 180 deg C? 

	

6TQJ6 	&1[ULI :30 4I Q ff 	UJGIV° 	CLUG) 	ffflJ(L? 

fr 



Y class 

A class 

E class 

C class 

50. The equipment usul for measuring earth resistance of a earth pit is called 

LS1UGT 	u36T 6TLJ6U M G763L UUGTULD Qb (!D6)  

Insulation ter 

Multimeter 

LCR meter 

Earth megLr 

51. What is the maxinlLJm operating temperature of XLPE cable ? 

XLPE 	L1G111&T 	18UL8: &Affi Quo 616 T6T? 

31lL1R.fl 

75 deg C 

9O deg C 

100 deg C 

110 deg C 

52. In case of undergo 'und cable power line crossing, depth of cable laid from formation level 

should be 

C&,LI16TT L&oT G)J1 ff,Lff1U 65G)pUJU, (Jrrffw 

WLLGt1j CUIrLLJULL CffL16ôT &c Lb 	6TG)J1F6 

CcJ6àTLb 	___ 	 ___ ___ ______ 

j{PId 	1 	TiTT cPTFHl 	4-II4-c 	, T lT1 	lI{cl-1 
t1l{L 

tt 

0.5m 

im 

2m 

2.5m 

53. The purpose of po Jcflng armouring to an underground cable is to prevent 

L)(J5(, ff6)JLO 	1J6T 	rr6is8LD 

rjf 	
'c1 14,T 1lThI 	 1l 

Ant attack 

entry of rnHofure 

4 	 c. Mechanico injury 

d. Bursting 

54. The current rating d PVC insulated and PVC sheathed four core, armoured aluminium 

cable of size 35 sq. im( laid directly in ground) is approximately 

PVC 	GOT8ULLL LOoJL PVC 6WU.lLUULL 	th-srr, 35 sq.mm  

	

iquJrr 	orjLto UrrLuULL) sua 	61fiu 	59fWw 	urruo 

LOUL 	1fcT1TLHLU1f 	)6)JGJG1TQ4  

4cF 
c1 	lTTW1 



92 amps 

160 amps 

200 amps 

250 amps 

	

55. What is the maximut I 	crating temperature of PVC cable? 

pvc G&00 	vTLJLL8: 	ju 0Jüu6o 0T6T? 

11 	b73{f{. i:i iTcR.i cilgHi1T? 

9O deg C 

7O deg C 

100 deg C 

110 deg C 

56. Type of Diesel engin 	mmonly used in Diesel-Generator application is 

I&Gb-Q6TCULL H JUJ6&U1rLLGo Qurrjcirr uUJ6âTu®üU®Lb 

6?3T 6 

3iIHc T-5Fl 
Two stroke e;tH 

Three stroke elcine 

Four stroke ( 	tie 

Six stroke en 

	

57. Which of the folloe., H 	most effective method of artificial respiration ? 

gtj L6ff& 	Q&uj!b6n& &6)JfF& (jp6o)W? 

fci 1 fld'l ? 

Mouth to mo jt} Jr pumping method 

To use bicyci 	pump 

Both 

None 

58. What is CPR? 

CPR 6T6TDFTO 616 [6r:. 

tt3iR W ? 
Chest Press I Helief 

Cardiac PuIn c 	y Resuscitation 

Coma prior r 	tion 

None 

	

59. To avoid electric sho 	ne must wear 

i&ói&rnj &&Cll 	 c6i1UJ C6)J6T®LD 

Shoes 

Wet slippers 

No footwear 

Any of the alc\ 0 

	

60. Which material is ret 	mended as fire extinguisher in electrical cases? 

i 	 urrirr& 	Qurr(1 



(9) 

I4Ld iiii) 	ffIlJ- 

Carbon teFi chloride 

Carbondioxiüe 

Sulphur heafluoride 

Any of the alove 

61. Maximum permissiHe combined earth resistance at major power stations is 

(kP&UJ L616tST 	 1G) vo5uLaurr& M&LD0& ffiCJlJLL 

LQ 6TJLJL 	_ __ 

vffccf {jd 	11l 	ff1P4 3{1R '1cId Qd 	 1T? 

0.5 Ohm 

10 Ohm 

2Ohm 

8Ohm 

62. Maximum permissi w ,  earth resistance for buildings is 

L4L MFI6T15,ULff_LUffUULL 4L6) 	LJLJ 

3CT {fRLCO4 31Z[1Zft 

0.5 Ohm 

10 Ohm 

2Ohm 

8Ohm 

63. Which of the folloc iri are principal safety precautions ? 

	

iin5 	ii 	Tw urrrrLj 	Q& 1? 

JT 	 ? 

Don't touch live wire or equipment with bare hands 

Before swileHing on supply, see no one is working in the line 

Use rubber gloves and mats 

All of the aaove 

64. AMF panel stands or 

AMF GIG VU 6TGO)aJ8 	15)frJ 

AMF ufqT? 

Auxiliary NI as Failure Panel 

Automatic Ianual Failure Panel 

Automatic Ilains Failure Panel 

None 

65. SEC for diesel enir: stands for 

Lo-a:Gb 6TQtftd8,ffiFr6-a SEC 6T6TUj 06?Y)ff 	5IIJ 

SFCTQ1T? 

Smart Fuel (onsumption 

Specific Fool Consumption 

Semi Failrn Consumption 

None 

66. As per IE Rules, 751) Volts is considered as 

IE G 	0k&U1q, 750 CcjrrL 	 E 



E P g i-i)215 '3f1 	, 7 	0 iT 	iFrI 	[R1[ 

High Voltage 

Low voltage 

Medium volt 

Extra high vc•Ita 

67. Which machine is ut to provide 230 single phase AC output from 110 V DC supply? 

110 V DC if LI66t1 L 230 €16$)Q 	6LL AC Q1'fla5L6L 6)4ffiJffi 

61 	UJ1TJLD IoTU®UU®DI? ___ ___ 

110 V DC 	ftM 	21:) AC 31M 	 T 	¶T 

31T1T 	? 
Rectifier 

Inverter 

Cycloconverl 

Any of the aLan 

68. Turbo charger in Die Lngine increase 	of Diesel Engines. 

LifGb 	T1E qCLJrr &rr 	Ii 	 6T6611T 

Dimension 

Overall Effic 

Speed 

None 

69. What is AVM for die a agine generator base? 

IifG) 	616T6T JLLJ 	CU5D8ff6T AVM 6T66T9ff6\) 616 T6T? 

.171 	T 	*1 1f 	lc1 	Z1T 

Automatic Vi jr 

Auto vibratio i . 	unting 

Anti vibratioi anting 

None 

70. Dipstick for checkH eating oil of diesel engine is provided with ____ 	oil marking 

1if6) 	T166 UCffLF 	&U56o)6t) Cifn& 	Ii:Ü61\)L 

Fr(if,ifUUL®GTWflJ __ 
g 	5 	TZ4 wl 	f 	TdT 

Maximum or 

Minimum on 

Maximum arl ninimum 

None 

71. Electrical fires can b xlinguished with 

L616& 	)UJ 	QTJa .ifU1tLD 

Dry povder I ' ire extinguisher 

CO2 type fir nguisher 

Both 



d. None 

72. Flammable liquid H' 	cannot be extinguished with 

61 ifl LU B 5t LUJ ) ii cu 	m LU 	L681 	6)6OT&a (!4 LLU lTJ 

i-Ilci mT 3ThI 7 	l-ll 5TT *lctdI 
Water 

Dry powdra lype fire extinguisher 

CO2 type Ii: a extinguisher 

Foam type ire extinguisher 

73. Humidity means 

nTiUL 	rpaao 

Percentag Hf water vapour content 

Temperature of air 

Pressure oi air 

Volume of Hi 

74. To increase the vortaye of the battery, cells are connected in 

CULLU516T 	 Q&iri 

CiuL(1&n6T. 

Parallel 

series. 

C. 	Series/Pai Hurl 

d. 	None of the above 

75. The cell connecte 	a to be applied with 	to prevent sulphation. 

Cu6T 	 Q 	 UL66TT 	Qff,1r6T® 

uuJ6 Tuc_CcU6doTLb.___ 

Paint 

Kerosine 

Grease 

Petroleum Hv. 

76. Instrument used U 	luasure specific gravity of electrolyte in a Lead acid battery 

QoL &J,L CL]bLU) 616T 6TaALGljrr6nGoL468T (51(LLL 

1rL46UJ M@TGDLCJ UUJ6TU®LD  

ThermomcHr 

Barometer 

Multimetet 

Hygrometer 

77. Net  energy meter i used for which application. 

	

gMDU LILL 6T 	U 	U1[L4J UUUU 

a. Pumping 



Air conditioni 

Solar genera H 

None 

78. Which protective du 	lament is connected in parallel to the circuit? 

urrrftiL1 l!h6oT 	LJLI 898 	U&& 	)6oTUL6) 

___  

flm 	B 	7T 	 IHI1Icl 	13{T? 

Fuse 

MOB 

[LOB 

All of the ala 

79. Timers are widely usal cr which application 

LLDIJTT 61 	JLl6oTUrrLLW U)iGo[r8LJ UU&U®UU J 

Tq4-F TT U7W q 	i5T a{clZ?PT fTt 3 g gh ft ni 

Pumping 

2/3 - lightin{ 

Street lightin, 

All of the abuva 

80. System head of a pur 	(Insists of the following 

9(5 uth 	 o 	 TG)J6ö 	Q96fl1 

Total static I 

Velocity hear 

Frictional he H 

All of the abovr 

81. Who is the Electrical lrrllector to Government for Southern Railway? 

Q 	u66jLic && gkbLLiarrar LurT~? 

General Man 

Principal Chii I 1cctrical Engineer 

Sr Divisional Elc:Irical Engineer 

CEGE 

82. Danger / Caution bo ii rilong with sign board near all electrical posts and Electrical 

Equipment should h 	1 

c 1UffUJ 6T& 	6d 16U6 	LUL C 66T 	L15T ffLbUff)Jff61T LDbLD 

L6öT 	 Q)&rocffl LJq UG06 	- GO 

ç IRT1T 	- 

English 

Hindi 

Tamil 

All of the ir 	ri language 



83. If the Breakdown v. ilue transformer oil is less than 30 kV, then action to be initiated is 

0CL6)6T LD,LJL 	 1L11G) 30 kVth 	irr 

rFG), Q1ILJJffUL C6)J65ofl4UJ Lff6  

qft 	1,31 	1R.ILtl4 	30kV 	 ii 

replacement of new oil 

heating of ull 

Purification of oil using Filtration plant 

None of thu above 

84. Equipment used for checking illumination level is 

06J61 	LL6 	C&rrffu UU ULburiib 

T? 

Multimeter 

Anemomet 

Megger 

Lux meter 

85. Maximum permitte I Voltage drop between Neutral and earth is 

LJLGO LU0JL114& 	@6U)L-CUJ 	 1LJULL 	18UL& 

T6?5T( 	CGU 

<= 1 Volt 

<= 2 Volt 

<= 3 Volt 

<= 5 Volt 

86. Three resistances 0 values 10 Ohms, 15 Ohms & 5 ohms are connected in series. What is 

the total resistano 

10 6LUfl), 15 ¶LUfl) 11-011-O 5 6LD LD1ULff,6TT QaIrTL (J6I 

	

6Lff6U C1FLL 	6TUL)GO 	 5ULGTTGTT6öT. QLUrT 

T6L 	JCGT1G1? 	 ___ 

5Ohm 

30 Ohm 

750 Ohm 

16 Ohm 

87. Three Capacitors H .alues Cl, C2 and C3 are connected in parallel to each other, then 

the net capacitanc 	aloe 

Cl, C2 LUJDLD C3 	ULGT1)6T j4TI 	C&TT 

6TUJ1ff 	 066T6oTI 9&J 
C1i üüi  

Cl, C2 
C1+C2±.3 

C1xC2xC3, Ci-r-C2+C3 

C1-C2-C3 

none of tb r above 



	

88. In a three phase DlHi 	inected circuit which of the following are correct? 

CL 6T] ffLL QL6DL 	16o6oT&6ULL &16o, 	 J6r6)J06o 

61J ff1turr6Tj?  

th 	55I 	*T 745 	t[lT , frei1ci 

Phase VoIPi 	1.732 

Phase VolUq > 1.732 

Line Voltage - Phase Voltage 

None of the 	e 

89. The transforma lion ' I atlu' of a transformer is the ratio of 

(f 	 UG ,_(LorrfW 61Lb 6TTLJd 

No. of secon 	tat is / No. of primary turns 

No. of prima' i P. is / No. of Secondary turns 

Secondary crrrnit / Primary current 

None of the 

90. Power rating of a typicul 1200 mm BLDC fan in India 

	

1UJ1r6) 	cUrr6-111`r6T 1200 L5)Lbb BLDC G 	Ui)6T 

IZEF 	

&á1 wü _ 
12( P . 	 k1TfT 

< 10 Watt 

28-40 Watt 

60 Watt 

100 Watt 

	

91. The purpose of silirn 	Inside the Breather is 

r QG6&T Crr6&Lo 

	

31ti 	H H 	g ' 

To prevent oil H it leaking outside 

To prevent air f,m flowing inside 

To prevent nuinttire from entering transformer tank 

To prevent raH I % ater entering inside 

92. LMLA means 

LMLA 6T66TU6T &QMD 

LMLA Hdd 

Low Measurirn at. Lead Acid 

Low Moistur: 1 'ad Acid 

Low Maintenance Lead Acid 

None of the ntou 

	

93. What is the % of li 	allowance if an employee is out of his headquarters for 10 

hours? 

	

UJ 	6i:' 	 QJGCUJ 10 

QGJGCUJ 	 u 	uu5i 	JGJ61wi? w&o1 CyLb? 

Ir 



(3 

80 

70 

60 

40 

94. Purpose of using Capacitors in Substations / switch room is to 

6)6T L65T NmGuajriJ&dT I aiGfIL& GL&Gb 	C 66TTu 

UU6)JT_CLbrrffffLo___ 

tqq {1 	T 'JU-1 	___ Zf[? 

reduce Volt ape 

increase current 

Improve Power factor 

to increase kVA rating 

	

95. A transformer bod should have at least 	no. of earths 

(I' TLDrr!bL LL5)Go 	 i1 	 üL6r 

(Lb C6TLU 	 ____ ___ 

_____ 	lTlF 
One indepnrient earth 

Two combinad earth 

Three independent earth 

Two independent earth 

96. Height of the fenciep around a outdoor substation should be more than 

QGJiThiq 	16T 1-1516T 	UJ6 	&fl1jU61T61T c GU56tST 	UJLD 

@6M,,ffj G))L 	)wrr 	 ___ 
F tE 11 	1'1 TT1 	 aftw 

1.5m 

im 

1.8m 

2m 

97. Current transformer: are to be always 

L66T6rrrLL 	rtnrrth GIL JcurrJL g 	thGrru 	 riut_ 

6TL  

connected to burden (relays or meters) 

always kept open circuited 

connected in series 

connected in parallel 

98. Connecting of tranto mer Neutral point to Earth connection is technically called as 

ffW6UJ 	6ö1Tt) 	6GOU L4616yfl L46D @6tD6mCji4 

6T6$T 	 UUD 

i'l4 	 T1ThT 

Earthing 

bonding 

Grounding 



d. Linking 

99. Recommended 	 ating of RCCB required for power loads like geysers, heaters 

etc., is 

LLa 	Uh16t(D I&th &j6mLDu 	RCCB @68T 

U6)crff8UULL 	 JD6W I-DR I-LILTO 

T , 	 frt 'fl* 	31i1id [dl 

l5mA 

25mA 

5OmA 

3OmA 

	

100. 	Rating of I i 	oers are normally mentioned in 

WFr1b0 LDLJ(I® Qurrirra - Gi) 	ULUU®l 

q ff dM 

a.kW 

HP 

Ah 

kVA 

	

101 . 	 fr ft 	ai ft{jftr 1v 77 

LOUJ NUffi 	 6T6ö)6T SO ULqJJLIffGTI 

TG116T? 

How many Hindi coursen 	scribed for Central Govt. employees? 

4 

1 

C. 2 

d. 3 

1O2.-aTrt 	5O 	; 	 T / WquT I 	I AT Tf1rZ7 1113ft PTT 

fvtF 

Cu&ii uirj(ur016b iii uU5G) 90 

/CU 	I(1h ILl & G)J6G)lU CUffL 	GT16\) U1FJC8!D8 	JQO 

wrnrè 	UL3'9)]? 

In which region of the Non i iHdi speaking participants be given Grace Marks' for participating in Hindi 

Essay/Elocution/NOtifll & Do 	competitions.? 

A 

B 

C. C 

d. 	None of the uOL 

103.ft y-ii 	r ir 

brrG)JO & L7O 	ffffGT1 	QJX 	WiUU®LOI1(F,16T 

QuuJ 6T6T? 

What is the name of the u 	on for writing Hindi Novel & Story books 

j-jt 	TTt, Oremchafld Puraskar 

7ff6tqTzf 	-~mikchand Puraskar 



SO 
C. 	e-iiii T.47~--,4J.L Maharaj Puraskar 

d. 	.3Y-d 	01 s-ft rrft, None of the above 

104. 	1T 	t t ff 	oi 	 fft 	WT 	iii d, I 3TR t 	¶T 7TRT ? 

aGo G)J(W 	 Gö U1GU 611 	46T 

)LL1GUU601U1ff,ff,UULL @Mb@ 616 T6T? 

What is the Target fixed n Annual Programme for letters received in Hind to be answered in Hindi? 

50 

60 

80 

100 

105.fr 	frfr 1O 	v rf 

'H 61 	D65T G)JL[rUJ 	LL16ö 
TUjáLULL @W6b@  

What is the target fixed in Annual Programme for writing noting in Hindi? 

20 

40 

30 

60 

106.iRi-1 trt ftirn 	T fT T9T 

CLJLGT1 / U 	)J6l1)Gi) 61 	G)JJGi) 	UL C6UTLb? 

In which form subject on ion FIes/Registers are to be written? 

5f f6t, Hindi only 

*R 	Lnglish only 

3fat 3Th1 ' T Ett, Both Hindi and English 

L-d 4 Ttt 	4t 	None of the above 

10 7. 	 JT 31T9T ? 

GOff, 	 6TLD 6iuCurrj? 

When World Hindi Day s observed? 

10 71I, 10 Onoruary 

10 	10 innuarylO 

10T,10Mr 01 

4#d 	1 O1 s-ft 	None of the above 

ii LUL 

QLUrr1u 	6DJUUUULU 	 6TU&UULL @eot@  
6WT6T? 

What is the target fixed foi it ttors in Hindi sentfrom C region to A' 'B' and 'C' region? 

30 

40 



45 

55 

	

109. 	c'l1l 	lr a 	3f 

1ff® 61LJ 1(Ui16bT éü 	J®ij? 

Tamit nadu comes under ri:h region? 

ktg A, Region 1 

ktir C, Region ( 

C. 	ktir B, Region B 

	

d. 	3q''fc1 	 r'r, None of the above 

	

110. 3r 	tiit *r *u11 111 	-i 	+ 	tr ft 	t 3mAwm ;:iti.  t? 

LJUi1D 	(.JUULff u6I rr6TTIjT GJ6Lt1ôT Quui 6T6ÔT6T? 

Name the Category of cniuye or whom Hindi training is not required? 

*uft D,CatcgotyD 

*Uft C,CntcgeiC 

	

C. 	Mt B,Catego,3 

d. .*uft A,Categor,'\ 

All 
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Written Examination for the post of Technician GR.III/RS/VLCY/LDCE Quota 

MP in EMU stands for 

A) Major Power B) Minimum Power C) Master Controller D) Brake Controller 

Full form of ESMON 

A) Energy cum speed monitoring system B) Speed monitoring system 

C) Energy monitoring system 
	

D) Energy and speed monitoring system 

Rating of light & fan HRC fuse in driving cab 

A) 100 amp B) 125 amp C) 63 amp D) 50 amp 

4) WGR is 

A) Winding general relay 

C) Ending governor relay 

B) Winding group relay 

D) Winding groove relay 

Minimum BA voltage to energize a rake 

A) 50 v 	B) 55 v C) 110 v D) 85 v 

Rating of MCP fuse 

A) 100 amps B) 50 amps C) 125 amps D) 160 amps 

Rectifier do 

A) Convert DC to AC voltage 	B) Convert AC to DC voltage 

C) Convert DC to DC voltage 	D) Convert AC to AC voltage 

Energizing of NVR relay confirms 

A) AUX I output voltage available B) AUX II output available 

C) BA voltage available 	 D) None of these 

Full form of IGBT 

A) Insulated gate bypolar transistor 	B) Insulated guard bypolar transistor 

C) Insulated gate bypass transistor 	D) Insulated guard bypass transistor 

10) Full name of LTC 

A) Line & Traction Convertor 

C) Loco & Tractive Convertor 

B) Loco & Traction Convertor 

D) None of the above 

11) To measure a value of 10iifd Capacitor what measuring equipment we need? 
	

fl 
A) Megger B) Clamp meter C) Volt meter D) Multimeter 

12)To measure current what instrument do we require? 

A) Clampmeter B) Voltmeter C) Lux meter D) Thermo meter 

13)What is the location of BA charger in EMU Motor coach 

A) HT Compartment B) LT Compartment C) Driver Cab 	D) None of these 

14)Type of guard bell push switch 

A) Rotary type B) Gang type C) Contact type D) Flat type 

15) Full form of RMVU 



6i) 

A) Roof mounted Vertical Unit 	B) Roof mounted Various Unit 

C) Roof Mounted Ventilation Unit D) None of these 

BIR Relay concerned with 

A) Transformer B) Tap Changer C) Switch Group D) None of these 

TTR Relay concerned with 

A) Tap Changer box B) Transformer Switch C) Group box D) None of these 

18)0L5 relay protect 

A) Rectifier Ckt. 	B) Tap Changer Ckt. C) VCB closing Ckt. 	D) None of these 

19)EFR relay protects the power circuit from 

A) Current failure 	B) Voltage failure C) Current & Voltage failure D) None of these 

MCB rating for oil pump 

A) 10 Amp. DC B) 15 Amp. DC C) 15 Amp. AC D) 60 Amp. AC 

In AC EMU TFP oil cooling system 

A) Natural cooling B) Forced cooling C) Natural& forced cooling D) None of these 

Arc chute used for 

A) To extinguish the arcing 
	

B) To extinguish & split the arcing. 

C) To split the arcing. 	D) None of these 

23)Tap changer contactor 

A) Electro pneumatic contactor 
	

B) Electric contactor. 

C) Pneumatic contactor. 	 D) Magnetic contactor 

What should be the minimum value of TM when meggering done with 1 KV megger? 

A) 100 Mega ohm B) 10 Mega ohm C) 1 Mega ohm D) 1000 Mega ohm 

What kind of air should be used for blowing out of TM? 

A) Moist compressed air 	B) Dry & cleaned compressed air 

C) Dirty compressed air 	D) None of these 

How many radiator motors are used in 25 KV AC EMU M/coach? 

A)1 	B)2 C)5 D) 10 

4 	27) Which relay acts on voltage? 

A) OLI B) CLR C) OVR D) RFAR 

Which relay acts on current? 

A) CLR B) OLI C) OVR D) RFAR 

Which relay acts on circulation of air or oil? 

A) CLR B) OL 5 C) TTR D) RFAR 

----------relay acts on the sense of temperature. 

A) RFAR B) CLR C) TTR D) OL 3 



HEFRA -2 which type of relay? 

A) circulation relay B) Tension relay C) Temperature relay D) Auxiliary relay 

What is the full form of TTR? 

A) Temperature thermostat relay 	B) Transformer thermostat relay 

C) Transformer Temperature relay D) Temperature of thermostat relay 

What is the full form of CBAR? 

A) Current balance Auxiliary relay 	B) Current balancing Auxiliary relay 

C) Circuit balancing Auxiliary relay 	D) Circuit balance Auxiliary relay 

34)VCB stands for? 

A) Voltage circuit breaker 

C) virtual circuit breaker. 

B) vacuum circuit breaker. 

D) variable circuit breaker. 

35) Interrupting medium in a circuit breaker may be 

A) Air B) Oil C) SF 6 D) Any of the above 

36) Function of CT in ESMON? 

Measure primary current of the EMU transformer 

Measure primary voltage of the EMU transformer 

Measure primary energy of the EMU transformer 

Measure secondary winding current of the EMU transformer 

37) What is LMLA Battery? 

A) Low maintenance lead acid 
	

B) Low multiple lead acid 

C) Light maintenance lead acid 
	

D) None of these 

38) What is specification of Battery use in EMU? 

A) 10V90Ah B)6V 120Ah C) 2V llOOAh D)20V llOOAh 

39)How many battery in one Motor coach? 

A)9 B)8 C)10 D)20 

What colour exist on positive terminal of battery? 

A) Red B) Blue C) Yellow D) Green 

What is rating of the Battery fuse? 

A) 1A B) 5A C) 80A D) 200A 

What gas evaporates during charging of Battery? 

A)H2 B)NH2 C)CO2 D)02 

43)What is value of cell voltage? 

A)2.1 V B)2.8 V C)3.3 V D)4.5 V 

44) What is ratio of Acid and distilled water for electrolysis? 
A) 1:3 	B) 2:3 C) 3:3 D) 4:3 

45)What instrument fitted in rake to check Battery and charging current? 

A) DC voltmeter B) DC Ammeter C) AC Voltmeter D) None of these 



What is value of specific gravity of Battery? 

A) 2345-2355 	B) 1235-1255 	C) 4325-4345 D) 2785-2795 

What is the weight of one Battery without electrolyte? 

A) 72 Kg. (approx.) 	B) 12 Kg. (approx.) 	C) 30 Kg. (approx.) D) 55 Kg. (approx.) 

What instrument fitted in rake to check Battery and charging voltage? 

A) DC voltmeter B) DC Ammeter C) AC Voltmeter D) None of these 

What is the weight of one Battery with electrolyte? 

or 	
A) 78 Kg. (approx.) 	B) 47 Kg. (approx.) 	C) 18 Kg. (approx.) 	D) 69 Kg. (approx.) 

Which acid utilized for making electrolysis? 

A) H2SO4 B) HCL C) HNO3 D) None of these 

51)No. of bogie in EMU coach? 

A)1 B)2 C)3 D)4 

52)Type of coupler used in [MU? 

A) Permanent 	B) Automatic 	C) Semi-permanent scaku coupler 	D) None of these 

53) Name the gauge used for measuring tread wear 

A) 'J' gauge B) Profile gauge C) Flange gauge 	D) None of these 

54)Name the gauge used for measuring tyre thickness 

A) 'J' gauge 	B) Profile gauge 	C) Flange gauge D) None of these 

55)New wheel dia of motor coach 

A) 952 mm. B) 877 mm. C) 857 mm. D) 850 mm. 

56)Condemning dia of conventional Trailor coach solid wheel? 

A) 899 mm. B) 857 mm. C) 825 mm. D) 829 mm. 

Name the gauge used for measuring wheel gauge 

A) Wheel distance gauge 	B) 'J' gauge 	C) Flange gauge D) None of these 

Name the instrument which measures axle box temperature 

A) Contact thermometer infrared B) Non-contact infrared thermometer. 

C) Multimeter 	 D) None of these 

59)Gap between brake block and wheel? 

A) 10-12 mm. 	B) 28-30 mm. 	C) 25-27 mm. D) 32-34 mm. 

60)Type of Bogie used in [MU Coaches? 

A) BO-BO B) B-B C) CO-CO D) None of these 

61)No of brake block fitted in a coach? 

A) 12 B) 16 C) 18 D) 24 



62)MC & HCC bogie center pivot contains? 

A) Water B) Oil C) Grease D) Gas 

63)Type of pantograph used in conventional EMU/MEMU Motor Coaches 

A) AM-14 B) AM-12 C) AM-22 D) AM-15 

64)ADD stands for 

A) Auto drop device B) Auto drain device C) Auto detect device D) None of the above 

CCU stand for 

A) Central control unit 
	

B) Computer control unit 

C) Communication control unit 
	

(D) None of the above 

DDU stand for 

A) Driven driver unit B) Driver distance unit 	C) Driver display unit (D) None of the above 

Colour of silica gel in AC-DC EMU 

A) Red/Pink B) Yellow/white C) Blue/pink D) Green/brown 

68)TFP oil is cooled by 

A) Radiator motor 	B) Aux comp 

69)Circuit breaker used in EMU 

A) ABB B) SF-6 C) VCB D) OCB 

C) Rectifier blower motor D) MCP 

70)Average life of Lead acid battery is 

A) 4 Yrs B) 8 Yrs C) 10 Yrs D) 12 Yrs 

71)Buffing gear gap measured with 

A) "J" gauge 	B) Flange gauge 

C) Wedge Gauge D) Profile gauge 

72)ln EMU one of the following is a part of EP unit 

A) Tripple valve B) Equilising discharge valve C) Pappet valve 	D) self lapping cylinder 

73) What brake cylinder pressure is maintained for MCC 

A) 1.6 kg/cm2 B) 2.4 kg/cm2 C) 2 kg/cm2 D) 3.5 kg/cm2 

74)Brake cylinder stroke length in mm 

A) 40mm B) 60mm C) 90mm D)120mm 

75)The type of strip used in EMU pantograph is 

A) Metalised B) Carbon C) Mild steel D) None of the above 

The control voltage in EMU is; 

A)110VAC B)230VAC C)110VDC D)230VDC 

The voltage of primary winding of EMU transformer is: 

A) 25 KV B) 266 V C) 782 V D) None of the above 

The Safety device provided in EMU for detecting gassing and the protection of Transformer is: 
(A) OLP B) hR C) BUD D) PRV 



6~) 

What is the value of Fan ckt MCB of one unit? 

A) 10 A B) 35 A C) 90 A D) None of the above 

Condemning limit of metallised carbon strip is for WBL 22.03 

A) 25 mm B) 29 mm C) 26 mm D) 30 mm 

What is max. Wheel dia difference between bogie to bogie? 

A) 5 mm B) 10 mm C) 13 mm D) 20 mm 

The material filled in breather of transformer is 

or 	
(A) Silica gel 	(B) Sulphuric acid 	(C) SF6 	(D) Mineral oil 

Core of a transformer is made up of 

(A) Aluminium 	(B) Carbon (C) Lead (D) Silicon steel 

What is the first step you would like to take to rescue a person who is in contact with live wire? 

A) Call to doctor 	 B) Pull him away from the live wire holding his hand 

C) Isolate him from the live wire 	D) Shift him to hospital 

How long a rescue breath needs to be? 

A) Delivered over 2 seconds 	 B) Delivered over 1 seconds 

C) Long enough to make the chest rise 	D) A small puff of air 

Which of the following does not change in a transformer? 

(A) Current (B) Voltage (C) Frequency (D) All of the above 

An insulator should have 

(A) High resistance (B) High conductance (C) High conductivity (D) All of the above 

Insulating resistance is measured by using 

(A) Multimeter (B) Insulation Megger (C) Voltmeter (D) Hydrometer 

Which material is recommended as fire extinguisher in electrical cases 

(A) Carbon tetra chloride (B) Carbon dioxide (C) Sulphur hexafluoride (D) Any of the above 

A.C. is converted into D.C. by 

(A) Dynamo (B) Motor (C) Transformer (D) Rectifier 

91)Tail lamp given to indicate 

A) Train in line 	B) Train is moving 	C) Last vehicle of train 	D) Train is stable 

Role of U F L to show 

A) Unit is trip 	B) Unit is faulty C) Unit is ready D) Rake is faulty 

Indication for battery charger failed in dr.desk 

A) ARTL B) BCFL C) MSTL 0) RFBL 

What is unit of air pressure in RFR? 

A)Nm B)KV C)PSI D)V 



95) MCB open ckt means 

A) MCB internally trip 

C) MCB broken 

B) MCB internally short 

D) None of these 

Role of supervisor circuit in EMU rectifier 

A) Rectification of AC voltage to DC voltage B) Supervision of rectifier functioning 

C) Supervision of tap changer functioning 	D) Supervision of Transform functioning 

Which hazard/s can be present around a bank of batteries? 

A) Shock 	B) Acid burn C) Explosions D) All of the above 

An accident is 
	

"I 
A) Unplanned event B) Non-Controlled event C) Undesirable event D) All of the above 

The safe way of working is 

A) An effective and right way of working 	B) An ancient way of working 

C) A way of handling work in a hurry 	D) A way of normal working 

In case of arc welding, one should protect his eyes by using 

A) Dark glass screen 	B) Sun goggles 	C) Mask 	D) clear glass 

What are the three regions as per provisions made in the official language rules? 

(A) P, Q, R 	(B) E, F, G 	(C) A, B, C 	(D) J, K, L 

What is the official language of union of india? 

(A) English 	(B) Hindi 	(C) Urdu 	(D) Telugu 

How many members are there in the Parliamentary Committee on Official Language? 

(A) 30 	(B) 40 	(C) 50 (D) 60 

When is Hindi day celebrated? 

(A) 141h  October 	(B) 15th October 	(C) 14'  September (D) 15th September 

How many languages are enlisted in the gth  schedule of Indian constitution? 
(A) 22 	(B) 23 	(C) 24 	(D) 25 

When was official language act passed? 

(A) 1963 	(B) 1968 	(C) 1973 	(D) 1978 

Name the script of Hindi language? 

(A) Devanagari 	(B) Roman 	(C) Dravidian (D) Arabic 

What is the official language of Nagaland? 

(A) Hindi 	(B) English 	(C) Assamese 	(D) Arabic 

What is the official language of Himachal Pradesh? 
(A) Urdu 	(B) English 	(C) Bhojpuri 	(D) Hindi 

As per provisions made in the official language rules, Rajasthan belongs to 
(A) Region P 	(B) English E 	(C) Region A (D) Region B 



III 

SOUTHERN RAILWAY 

Selection the post of Technician/Gr. IlI/EMU/VLCY in LEVEL-2 against 25% LDCE quota. 

Date: 03.12.2019 	 Duration: 2 Hours. 	 Total marks: 100 

Name of Candidate: 

Roll Number: 

Instructions to Candidates: 

Candidates should write their name, designation, office, Roll No. /Staff No. etc. only in the space 

provided in the fly leaf and not in any of the pages in the answer books or additional sheets. 

If any names /roll numbers are found in the answer books or additional sheets, such papers will 

be disqualified. 
In the answers to the objective type questions, no correction of any type is permitted. In case any 

correction is made, that answer shall not be evaluated at all for e.g. corrections made in the 

objective type questions like (a) cutting (b) over writing (c) erasing (d) scoring off a ticked answer 

in multiple choice and ticking another answer and (e) modifying the answer in any way, will not 

be evaluated at all. 
Total 110 questions given and out of which 100 questions only to be answered. If more than 

100 questions answered, excess answers will not be evaluated. 

V. 	All questions will carry one mark each. For correct answer One mark will be awarded. For wrong 

answer there will be a negative mark of 1/3 mark. 
-------------------------------------------------------------------------------------------------------------------------------- 

CHOOSE THE CORRECT ANSWER (100X1=100) 

 The main transformer rating in EMU is? 

a) 1000KVA 	 b) 1050 KVA c) 1100 KVA d) 1200 KVA 

 The Traction Motor in conventional EMU is? 

a) Induction motor 	b) DC Shunt motor c) DC series motor d) Stepper motor 

 The instrument used for measuring Insulation Resistance is? 

a) Ammeter 	 b) Energy meter c) Megger d) Ohm meter 

 The capacity of battery used in Emu motor coach is? 

a)l2OAh 	 b)9OAh c)llOAh d)75Ah 

 The oil used in transformer? 

a) Lube oil 	 b) Mineral oil c) Castrol oil d) Compressor oil 

 The miniature circuit breaker(MCB) is used to protect? 

a) No load 	 b) To protect shaft c) Short circuit d) All of the above 

 The operating voltage of Headlight in EMU is? 

a)11OV 	 b)90V c)24V d)48V 

 If overvoltage relay acts in EMU, the effect is? 

a) VCB will trip 	b) Motor contactor will open 	c) Progression of notches will be stopped 

d) OLP relay will act. 
The Warning switch provided in EMU to restrict power to? 

a) Shunt power 	b) Half power 	 c) Full power 	 d) No power 



10. Number of main poles in EMU traction motor is? 
a)2 	 b)6 	 c)8 d)4 

11. The electrolyte used in batteries of EMU? 

a) Sulphuric acid 	b) Hydrochloric acid 	c) Acetic acid d) Citric acid 
12. Number of pins available in EMU jumper socket? 

a) 18 	 b) 19 	 c) 16 d) 20 
13. Reverser forward movement is done through supply wire number? 

a)lwire 	 b)3wire 	 c)5wire d)6wire 
14. The rating of MPT MCB is? 

a) 5A 	 b) 10A 	 c)63A d) 15A 
15. The battery charger in EMU is located in? 

a) Under frame 	b) HT room 	 c) LT room d)Motorman cab 
16. The working voltage of Auxiliary motors in EMU is? 

a)266VAC 	b)144VAC 	 c)11OVDC d)24VDC 
17. The type of cooling for Traction Motor in EMU is? 

a) Self cooling 	b) natural cooling 	c) forced cooling d) Oil cooling 
18. Which of the following switch to be used to get battery feed of rear MC in EMU rake? 

a) MCOS 	 b) CCOS 	 c) ISS d) ASS 
19. MCP synchronizing wire number is? 

a) Wire No. 14 	b) Wire No. 12 	 c) Wire No. 13 d) Wire No. 4 
20. Monthly inspection of EMU rake is carried out once in? 

a) 10 days 	b) 30 days 	 c) 45 days d) 60 days 
21. The maximum speed of EMU metro rake is? 

a) 80 Kmph 	b) 96 Kmph 	 c) 100 Kmph d) 105 Kmph 
22. Total number of tape changer notches? 

a) 15 	 b) 20 	 c) 21 d) 22 
23. The device used to convert DC to AC s 

a) Convertor 	b) Rectifier 	 c) Inverter d) None of the above 
24. Ultrasonic test is conducted to detect? 

a) crack in axle 	b) winding defect 	c) overload d) viscocity 
25. Which lubrication is used in Gear case? 

a) Servo coat 170 t 	b) Servo gem RR3 grease 	c) Silicone grease 	d) oil 
26. MR pressure is build up by? 

a) main compressor 	b) Auxiliary compressor 	c) Brake unit d) KF Motor 
27. Which of the equipment is used for communication between Motorman and Guard during train 

running? 

a) signal bell 	 b) Mike 	 c) both a& b d) Cell phone 
28. Emergency light is working with? 

a) 110 Volt 	 b) 230 volt 	 c) 141 volt d) 266 volt 
29. The rating of panto / ABB MCB is? 

a) 5A 	 b) 10 A 	 c) 15 A d) 20 A 
30. How many Traction Motor contactor available in a Motor Coach? 

a)2 	 b)4 	 c)6 d)8 
31. How many 'T' switches available in Motor Coach? 

a)3 	 b)6 	 c)9 d)12 
32. Main compressor cut in, cut out is automated by? 

a) governor 	b) Motor 	 c)Switch d) None 
33. Application/Relase of EP brake is done through? 



a) AB relay 	b) BA relay c) CR relay d) SR relay 

34. Main parts of Traction Motor are? 

a) Stator 	 b) rotor c) Pinion d) All of the above 

35. 'OVR' is provided to protect over voltage in? 

a) MCP 	 b) MCPA c) Traction motor d) None 

36. Capacitance value is measured by 

a) Ammeter 	b) LCR meter c) Volt meter d) Lux meter 

37. The unit of capacitance is 

a) Farad 	 b) Henri c) Ampere d) Ohm 

38. Number of axle available in EMU Motor Coach? 

a)2 	 b)4 c)6 d)8 

39. In EMU main compressor is connected in? 

a) Auxiliary I circuit 	b) Auxiliary II circuit c) Power circuit d) control Circuit 

40. The pick up voltage of Starting relay is (SR) 

a)45V 	 b)50V c)55V d)60V 

41. In EMU Coaches speed and energy is recorded in? 

a) ESMON 	b) Hard disk c) Flasher unit d) Speed Gun 

42. HOBA is related to? 

a) Control circuit 	b) Power circuit c) Aux power circuit d) Aux Power circuit II 

43. Minimum pressure required to keep the pantograph in raised condition is? 

a)6kg 	 b)7kg c)Skg d)3kg 

44. The unit of electric voltage is? 

a) Volt 	 b) Ampere c) Farad d) Ohm 

45. BCFR lamp glows whenever? 

a) Battery charger not working. 	b) Flasher not working c) Brake not working 

d) None. 
46. The number of Earth Brush in EMU Traction Motor is? 

a)1 	 b)2 c)3 d)6 

47. When there is an over load in Traction Motor, which relay will act? 

a)0L 5 	 b)OL1  c)OL6  d)OLP 

48. which of the following relay will act when the temperature of transformer oil increases? 

a) BIR 	 b) hR c) LBAR d) SR 

49. Which of the following motor is working for cooling of transformer oil? 

a) compressor 	b) traction motor c) oil pump(OP) d) None 

50. Electrical Energy is measured by? 

a) Ammeter 	b) Volt meter c) Watt meter d) Watt hour meter 

51. The unit of current is? 

a) volts 	 b) OHM c) Watt d) Ampere 

52. Resistance is measured by? 

a) Ammeter 	b) Volt meter c) Watt meter d) Multimeter 

53. The specific gravity of battery is measured by? 

a) Hydrometer 	b) Manometer c) Ohm meter d) multimeter 

54. How many numbers Traction motor is available in EMU Coaches? 

a)2 	 b)4 c)6 d)8 

55. Current limiting relay (CLR) is used in EMU to limit? 

a) resistance 	b) voltage c) pressure d) current 

56. The EMU control circuit working voltage is? 

a) 24 volt DC 	b) 100 volt AC c) 110 volt DC d) 110 volt AC 



57. The equipment used for conversion AC to DC is? 
a) Rectifier 	b) voltmeter c) multimeter d) All of the above 

58. Number of cab in EMU Motor Coach? 

a)2 	 b)3 c)1 d)4 
59. Ultra sonic test (UT) of axle is tested once in? 

a) 6 months 	b) 8 months c)10 months d) one year 
60. in case of train parting, which light will glow? 

a) Head light 	b) Cab light c) Tail light d) Flasher light 

61. Fan contactors is located in ? 

a) HT room 	b) LT room c) under frame d) coach end wall 

62. MCPA (Baby compressor) working voltage ? 

a) 230 volt 	b) 24 volt c) 110 v DC d) 110 v AC 

63. CR relay is located in? 

a) HT room 	b) LT room c) under frame d) Relay panel 

64. To isolate traction motor, which switch will be operated? 

a) ASS 	 b) CCOS c) BL switch d) MCOS 

65. EFRA II relay will act due to? 

a) Earth fault in power circuit b) Earth Fault in light circuit 

c) Earth fault in Traction Motor d) Over load in fan circuit 

66. Which lubrication used in axle box? 

a) Servo gem RR3 	b) Graphite grease c) Silicone grease d) All of the above 

67. Unit of power is ? 

a) Ampere 	b) Volt c) Ohm d) Watt 

68. HOBA is a? 

a) battery 	b) earthing switch for battery 	c) lamp d) relay 

69. When there is an overload in transformer, which relay will act? 

a) 01-1 	 b) OL 2 c) OLP d) EFRP 

70. MCPA is a? 

a) Single phase motor 	b) 3 phase motor c) DC motor d) AC motor 

71. The Brake pressure (BP) value of EMU rake is? 

a) 6 Kg/cm2 	b) 	5 Kg/cm2  c) 7 Kg/cm2  d) 8 Kg/cm2  

72. The simultaneous braking is achieved in EMU rake by means of 



a) Auto brake 	b) EP brake c) DMH d) Guard brake 

73. Which brake system is used in EMU working? 

a) EP brake system b) Auto brake system c) DMH brake system d) All of the above 

74. The MR pressure is cut out at the pressure of 

a)5 Kg/cm2 	 b)6 Kg/cm2  c)7 Kg/cm2  d)8 Kg/cm2  

75. which cock is used to isolate brake in coaches? 

a) BIC 	 b) DIC c) MIC d) All of the above 

76. If Air suspension system is isolated in EMU, the permitted speed is? 

a) 30 Kmph 	b) 40 kmph c) 60 Kmph d) 80 Kmph 

77. BIV is used to charge? 

a) BP circuit 	b) Battery c) MR circuit d) None 

78. The EP brake is a? 

a)Electro pneumatic brake 	b) Electrical Power brake c) Electrical brake 

d) Pneumatic brake 

79. "B" coach is a ? 

a)motor coach 	b)trailor coach c) vendor coach d) none 

80. Which equipment is used to remove moisture in air circuit of EMU? 

a) Air drier 	b) VCB c) EP unit d) MCPA 

81. Name of the compressor contactor is? 

a) CC1 	 b) CC2 c) LC d) VC 

82. In WAU 4, the word 'W' denotes? 

a) Meter gauge 	b) Broad gauge c) narrow gauge d) None 

83. Type of Battery used in EMU? 

a) Nickel Cadmium 	b) Lead acid c) POH d) None 

84. The 'OVR' stands for? 

a) Over voltage range 	b) Over voltage rectifier c) Over voltage relay 	d) None 

85. The out put voltage of Aux I circuit is? 

a) 266 volt 	b) 141 volt c) 110 volt d) 230 volt 

86. The time required to raise the pantograph? 

a) 6-10 sec. 	b) 10-15 sec. c) 1-5 sec. d) 15-20 sec. 



87. What is 'SL'? 

a) Smoothening reactor 	b) Invertor c) convertor d) None 

88. When VCB is in tripped condition? 

a) All lights will glow 	b) Only emergency light will glow c) Flash light will glow 
d) Fans will work 

89. The unit of resistance is? 

a) Watt 	 b) ohm c) Volt d) Farad 

90. SR relay is provided in 

a) Relay panel 	b) HT room c) Under frame d) In Traction motor 

91. Over load relay for rectifier is? 

a)OL 	 b)0L 5  c)0L 6  d)OLP 

92. WGR is a? 

a) Winding Grouping switch 	b) Resister 	c) winding grouping relay 	d) Winding 

93. Class of insulation used in Traction Motor is? 

a) B class 	 b) H class c) C class d) None 

94. Maximum number of coaches presently running in a EMU rake in Chennai Division? 

a) 8 CAR (Coaches) 	b) 12 CAR(Coaches) c) 9 CAR(Coaches) d) 16 CAR(Coaches) 

95. Flat tyre is a ? 

a) Bogie defect 	b) Compressor defect c) Axle defect d) Wheel defect 

96. The carbon strip is used in 

a) pantograph 	b) bogie c) axle d) axle box 

97. TLTE will happen when? 

a) MPT MCB tripped 
b) Wire number — i not getting supply 

c) Wire No. -14 not getting supply d) all of the above 

98. When there is a Traction Motor earth fault which relay will act 

a) OLP 	 b) EFRP c) OLl - OL 4 d) 0L5, 0L6  

99. Voltage is measure by? 

a) Ammeter 	b) Watt meter c) Voltmeter d) Energy meter 

100. Current is measured by? 

a) Ammeter 	b) Watt meter c) Volt meter d) Energy meter 



Which is the official language of the union of india? 

a) Hindi 	 b) English 	 c)Tamil 	 d) Sanskrit 

Which part of the constitution contains provision regarding official language 

a)Part X 	b)Part XII 	c)Part XV 	d) Part XVII 

When is Hindi day celebrated 

a) 14"  November 	b) 14'  September 	c)l4th August  d)l4th  December 

How many languages are enlisted in the eighth schedule of Indian constitution 

a) 22 b)18 	c)12 	d)24 

What is the foreign language included in the Eighth Schedule 

a) Arabic 	b)singhali 	c) nepali 	d) Bhutanese 

4, 

How many regions are there as per the provisions made in the official language rules 

a) Three 	b) Four 	c) five 	d)two 

The state of Tamilnadu is coming under which region as per official language rules 

a) Region A 	b) Region B 	c) Region C 	d) Region D 

In which year official language act passed 

a)1966 	b)1965 	c)1963 	d)1967 

One of the Hindi examinations conducted by Dept.of official language under MHA is 

a)Prathmic b)Prabodh c)Madhyama d)Praveshika 

One of the Hindi examinations conducted by Dept.of official language under MHA is 

a)Prathmic b)Praveen c)Madhyama d)Praveshika 

** ** * ** * *** ** * * * **** * *** 


